

ପଞ୍ଚାୟତ ସମିତ କାର୍ଯ୍ୟାଳୟ : ଚିତ୍ରକୋଷା, ଛିଲା-ମାଲକାନଗିରି

OFFICE OF THE PANCHAYAT SAMITL CHITRAKONDA, DIST- MALKANGIRI

e-mail | <u>oci-kudumulugumm.n@nic.in</u> Mob No-9439781618, 9668310803.

Letter No. 3 6 33/2023

Date. \ \ .08.2023

CORRIGENDUM

In partial modification to the tender call Notice published vide No.03 dtd 10.08.2023 of Panchayat Samiti, Chitrakonda, the schedule date for submission of sealed tender papers and date of opening of tender papers are hereby extended as detailed below due to unavailable circumstance.

SI No	Revise dates of tender call Notice No.05 dtd 16.08.2023					
1	Last date for receiving of tender papers	05.09.2023				
2	Opening of Sealed tender papers	07.09/2023				

Block Development Officer. Chitrakonda/

Not to be published

Memo No 24-34 /2023

Date \ \ . 08 2023

Copy to Notice Board

Block Development Officer Chitrakonda.

Memo No. 72023

Date

08.2023

Copy to the APD(Tech), ZP, Malkangin, Asst. Executive Engineer, ITDA, Malkangiri, Asst Executive Engineer, Chitrakonda Block and Asst Executive Engineer.RD-I .Malkangiri for information and requested to attend on the tender opening date on 07 08 2023 at about 12 00 noon positively.

Block Development Officer Chitrakonda.

Memo No 3635 /2023

Date: | b

.08.2023

Copy submitted to the Chief Development Officer-Cum-EO.ZP Malkangiri for favour of kind information, and necessary action.

Copy to DIO NIC Malkangiri for information with a request to upload the advertisement in the Dist web site for wide publicity.

Copy to DIPRO, Malkangiri for information and necessary action.

Block Development Officer

Chitrakonda

Memo No. 2636/2023

Date: 6 .08.2023

Copy to Editor, SAMAJ, Bhubaneswar and the Editor, SAMBAD Bhubaneswar to publish corrigendum in the daily odia new papers for wide publication with in stipulated lowest Govt, prescribed rate for one day only.

Block Development Officer Chitrakonda.



ପଞ୍ଚାୟତ ସମିତି କାର୍ଯ୍ୟାଳୟ, ଚିତ୍ରକୋଣ୍ଡା , ଜିଲ୍ଲା-ମାଲକାନଗିରି

OFFICE OF THE PANCHAVAL SAMITI, CHITRAKONDA, DIST-MALKANGIRI

e-mail ori-kutumingima@nic.inMob No-8895949225, 9090669066

Advt. No. 05 /2023.

Date. 16 .08.2023

Sealed tenders are invited from the registered "D & C" Class Contractors of the state PWD [R&B] /Water Resources /Rural works /M.I/CPWD in prescribed form to be eventually drawn in P.W.D. form No.P.]. The filled in tender form shall be received through registered/speed post only at Office of the Block Development Officer. Chitrakonda, Dist.Malkangiri by 5.00 PM of 5th Sept. 2023 for the work "AS PER THE FOLLOWING TABLE" for the scheme 2023-24 on Samagra Sikshya (SETU). All the tender forms received shall be opened before the tender committee in the presence of the tenderers or their authorized representatives at 12.00 Noon on 7th, 2023 at the Block Conference Hall of Chitrakonda. The details of the Tender Schedule of the said projects is appended with this as Annexure-1.

TABLE - A

Anne Nure.	Name of Works	Approx. cost Cost of of project in tender Rs. paper		EMD 1% (in Rs.)	Completion period
	2	- 3	4	ž	6
Ī	Boundary wall of Pariasput Teacher Complex	16190087-	6000%-	16190/-	6 months
П	Boundary wall of Lodambo Teacher Complex	1082083/-	6000%-	10821/-	6 months
111	Boundary wall of Januage Teacher Complex	1614743/-	6000/-	16147/-	6 months
ĨΨ	Boundary wall of Sarkubandha Teacher Complex	1619008/-	6000/-	16190/-	6 months
V	Boundary Wall of Badapada PUPS	1075394/-	600D/-	10754/-	6 months
VΪ	Const of AddL Classroom at Bezing PS of Panasput GP	1138493/-	6000/-	11385/-	6 months
VΪΙ	Corist of Addl Classroom at Mandapalli PS of Dhuliput GP	1146377/-	6000/-	114647-	6 months
VIII	Const. of Addl. Classroom at Bihangudi PS of Jodambo GP	1138493/-	.6000/-	11385/-	6 months
ĪΧ	Const of Addi. Classroom at Dimeteriga PS of Dhuliput GP	1146377/-	6000/-	11/464/-	6 months
X	Const of Addl. Classicom at Dhuliput PUPS of Dhuliput GP	1146377/-	6000/-	I (464/-	6 months
XI	Const. of Addl Classroom at Tabery PS of Janon GP	1146377/~	-\000ē	11464/-	6 months



ХЦ	Const. of Addil Classroom at Gorasetu PUPS of Panaspur GP	1138493/-	6000/-	113854-	6 months
XIII	Const. of Addl. Classroom at Bidarpakna PS of Papermetia GP	1143356/-	5000/-	1.1.434/-	6 months
ΧίΛ	Const. of AddT. Classroom at Gandhiguda PS of Papermetla GP	1143356/-	6000/-	1114347-	& months
XV	Const. of Addl. Classroom at Fontaguda PS of Papermetia GP	1143356/-	6000/-) 1434/-	6 months
XVI	Const of Addl Classroom at Gajajmamud) PUS of Gajalmamudi GF	131.1664/-	5000/-	13117/-	6 months

TERMS AND CONDITIONS:

- 1. The tenderers should note that the work must be started with in 07 (seven) days on receipts of the work order and shall be completed within 4 months & 6 months commencing from the date of issue of work order. Tenderers are required to submit detail programme of works along with the tender which they consider necessary keeping in view of the clause 2 of the P.W.D. Form No.P.L. without these programmes of works, the tender will be considered defective. Authority for acceptance of tenders would rest with Block Development Officer, Chitrakonda ,Dist-Malkangiri
- 2. Tenderers are required to pay earnest money at 1% of the estimated amount i.e. as per Column No-05 to Table-A mentioned at above, either in shape of Bank Draft/N.S.C./ Postal Time Deposit Pass Book! Deposit Receipt of Scheduled Bank duly pledged to the Block Development Officer Chitrakonda, otherwise their tender will not be considered. The earnest money will be refunded to the unsuccessful tenderers on application as per the terms and conditions laid down in O.P.W.D. Code and the same will be retained in case of the successful tenderers and will not earry any interest at the time of refund after successful completion of the work.

CONTRACTOR

- 3. (a) The plan & specification for the work can be seen at the office of the Block Development Officer. Chitrakonda during any working hours days up to 05.09.2023.. Complaints at a future date that the plan and specifications have not been seen cannot be entertained. The contractor may obtain a set of tender documents for the work from the official website (http://www.malkangiri.nic.in) on payment of Non-refundable fund as per Column No-04 of Table-A above in shape of Demand Draft issued from any scheduled bank in favour of Block Development officer. Chitrakonda Payable at Chitrakonda. The tender must be submitted in a sealed cover through registered/ speed post only i.e. separate tender forms should be used for each project and must be packed only one tender form in a single envelope. The name of the tenderer and the name of the work are to be superscribed on the cover.
- (b) All other information can be obtained on application to the Block Development Officer. Chitrakonda Dist. Malkangiri. The authority will not be responsible if any portion of the tender document is modified and in all cases this conditions stipulated in the original document kept in the office of the undersigned shall prevail.
- (c) The organization will not be held responsible, if there is any delay in receipt of tender documents by the intending contractors sent by department through registered or speed post and similarly the tender documents sent through Registered. Speed post donor reach in the Block Development Officer, Chitrakonda Dist., Malkangiri by the scheduled date and time. Their offers will not be considered on any account even if the tender documents were dispatched by the tenderers before the due date. The cost of registration fees will be home by the intending tenderers.
- (d) As envisaged in Works Department OM No-16 dated.01.01.2015 any single tender received in 1st Call shall be cancelled without opening of the bid and in case when more than one tender have been received in the 1st call and only a single tender is found to be responsive, the same is also liable to be cancelled due to lack of competitive price bidding.
- Block Development Officer. Chitrakonda Dist- Malkangiri reserves the right to reject any
 or all the tenders received without assigning any reasons thereof.
- 5. The tenderer whose tender is selected for acceptance shall within a period of seven days upon written information being given to him of acceptance of his tender make an initial security deposit (One percent) of the tendered amount. So that the earnest money and initial security deposit will be 2% of the tendered amount as shown in clause-2 above and sign the agreement in the P.W.D. Form No.-P1 for due fulfillment of contract in the office of the Block Development Officer, Chitrakonda Dist-Malkangiri. The security deposit, together with the earnest money and the amount withheld according to the provision of P1 agreement shall be retained as security deposit for the fulfillment of this contract. Failure to enter into the required agreement and to make the security deposit as above shall entail forfeiture of the earnest money. No tender shall be finally accepted until the required amount of security money is deposited. The written agreement to be entered into between the contractor and the Block Development Officer, Chitrakonda shall be foundation of rights of the parties and the contract shall be deemed to be incomplete until the agreement has first been signed by the contractor and then by the proper officer authorized to enter into the contract on behalf of the Government. The department will accept the security deposit in the form of A.S.C., N.D.C., Postal Time Deposit Pass Book duly pledged to Block Development Officer, Chitrakonda and in no other form. In case of tenderers who have made fixed deposits, action will be taken to degrade them if they decline to sign the agreement within the period as in above case,
- 6. (a) The rates should be quoted in words and figures and the units in words otherwise the tender will be liable for rejection. In case of discrepancy between words and figures, the words shall prevail and in case of discrepancy between unit rate and total, the unit rate shall prevail. The rates should be quoted in Rupees and Paisa, but not in Rupees and annas. The tender shall be written legibly and free from erasures, over writings or conversion of figures. Corrections where unavoidable should be made by scoring out initiaing dating and rewriting. The tender should also show total of each page and grand total of whole tender.
- (h) The amount equivalent to less percentage as quoted by the hidder must be deposited in advance before execution of the agreement.

BLOCK DEVELOPMENT OFFICER

CONTRACTOR

- The contractors shall be responsible for payment of all royalties or other charges for quarrying materials. All local taxes inclusive of GST & Income Tax. Ferry & Tollage charges and Octroi Taxes are to be paid by Contractor.
- 8. The tender may not, at the discretion of the competent authority, be considered unless accompanied by attested copies of GST certificate, non assessment certificate as the case may be and the original certificate produced before the Block Development Officer, Chitrakonda Dist-, Malkangiri at the time of opening of the tender.
- 9. If the contractor removes any materials or stock so supplied to him from the site of work with a view of disposing of the same dishonestly, he should in addition to any other liabilities Civil or Criminal cases arising out of the contract be liable to pay a penalty equivalent to five times the price of the materials or stock according to the stipulated rates and the penalty to impose shall be recovered from any sum that may then or at any time there after become due to the contractor or from his security or from the proceeds of sales thereof.
- 10. The contractor should be fully liable to indemnify the department for payment of any compensation under "Workman" Compensation Act. VII of 1923 on account of the workmen being employed by him and the full amount of compensation paid will be recovered from the contractor.
- 11. Every tenderer must examine the detailed specification of Project before submitting his tender. The rights is reserved without impairing the contract to make such increase in the quantities or items of work mentioned in the schedule attached to the tender notice as may be considered necessary to complete the work fully and satisfactorily. Such increase or decrease shall in no case invalidate the contract or rates. It shall be definitely understood that the Govt, do not accept any responsibility for the correctness or ompleteness of the quantities shown in the schedule. The schedule is hable to alteration by omission or additions or deduction and such omission deduction shall in no case invalidate the contract and no extra monetary compensation will be entertained. Department will not supply any materials what so ever for the work. The tenderer shall be financially solvent and stable for advance procurement of all materials required for the work vide Government of Odisha Finance Department Memo No.-48443/ F Code-46 / 95 dated 11.12.1995.
- 12. All reinforced cement concrete work should confirm to Orissa Detail standard specification & should be of grade M 150 and M 200 equivalent to nominal proportion 1:2:4 / 1:1.5:3 having minimum compressive strengthen in work test of 150 Kg/ Cm2 /200 Kg / Cm2 in 15 Cm, cubes at 28 days after mixing and test conducted in accordance with 1: S-456 & 516 using 12mm to 20mm size hard black crusher broken granite chips. (20mm size not to exceed 25%).
- 13. Shuttering and centering shall be with seasoned non-bal wood planks and theinside of which shall be fined suitable sheeting and made leak proof and water tight or alternatively steel shuttering and centering may be used.
- 14. For the purpose of jurisdiction in the event of dispute if any the contract should be deemed to have been entered into within the State of Odisha and it is agreed that neither party of the contract at any place outside the State of Odisha.
- Percentage rate contract (vide Works Department letter no.8310 dt.17.05.2006) In case of Percentage Rate tender.:-
 - The contractor has to quote percentage excess or less over the estimated cost in the Price Bid appended to the tender document.
 - ii. The Contractors participated in the tender for more than one work may offer conditional rebate. Rebate offer submitted in a separate letter duly scanned shall be opened. declared and recorded first. The rebate so offered shall be considered after opening of all packages called in the same Tender Notice. The Contractors who wish to tender for two or more works shall submit separate tender for each. Each tender shall have the Bid Identification No.. Name & Sl. No. of the work (as per IFB) to which they refer.
 - iii. The Contractor will quote percentage excess/less up to one decimal point only. If he writes the percentage excess/less up to two or more decimal points, the first decimal point shall only be considered without rounding off.

- iv. In the contract P-I time is the essence. The contractor is required to maintain a certain rate of progress specified in the contract. The quantity mentioned can be increased or reduced to the extent of 10% for individual items subject to a maximum of 5% over the estimated cost. If it exceeds the limit stated above prior approval of competent authority is mandatory before making any payment.
- The period of completion is fixed and can not be altered except in case of exceptional circumstances with due approval of next higher authority.
- vi. Bills for percentage rate tenders shall be prepared at the estimated rates for individual items only and the percentage excess or less shall be added or subtracted from the gross amount of the bill.
- 16. After the work is finished all surplus materials and debris are to removed by the contractor and preliminary work such as vats, mixing platform etc. are to the dismantled and all the materials are to be removed from the site. The ground up to 15m wide from the building should be cleared and rough dressed. No extra payment will be made to the contractor on this account. The rate quoted should be inclusive of all these items.
- 17. The contractor shall not interface with the execution of water supply or electrical fittings arrangement and any other works entrusted to any other agency by the departmental any time during the progress of the work.
- 18. The department will have the right to inspect the scaffolding and centering made for the work and can reject partly or fully such structures if found defective in their opinion.
- 19. The contractor will have to arrange for water supply for all works and make sanitary arrangements at this own cost for his labour camps. Contractor has to arrange adequate lighting arrangements for night work whenever necessary at his own cost.
- 20. Baling out water from the foundation either rain water or sub-soil water if necessary should be borne by the contractor. No payment will be made for bench marks, level pillars profiles and enching and leveling ground where required. The rates quoted should be for finished items of work inclusive of these incidental items of work.
- 21. All the quantities mentioned in the schedule are combined for ground floor and multifloors incase multistoried building the rates should be through for the same unless otherwise mentioned in the schedule of quantities for individuals items.
- 22. Cement concrete in roof slab beams etc. wherever prescribed by the Engineer in charge shall be machine mixed and vibrated and the contractor should arrange his own concrete mixers, vibrators and pumps etc. for the purpose.
- It should be understood clearly that no claim what so ever will be entertained.
- 24. The tenderer shall have to abide by the CPWD safety code rule introduced by the Government of India Ministry of Works, housing and supply in their standing orders No.44 to 50 dated 25.11.1957 which can be seen in the office of the Block Development Officer, Chitrakonda Distr., Malkangiri during working hours & days.
- Tenders are required to abide by the fair wage clauses as introduced by the Government.
- 26. The contractor will be responsible for the loss or damage of any departmental materials equipments supplied to him under clauses 13, 30 and 32 during execution of the work due to reason whatsoever and cost of such materials will be recovered from him at prevailing stock issue rates plus storage charges or market rates whichever is higher.
- 27. The contractor should arrange at his own cost necessary tolls and plants machines concrete mixer & vibrators and other machineries such as pumps etc. required for the efficient execution of the work and rates quoted should be inclusive of the running charges of such plant and cost of consumable.
- 28. The contractor will have to submit to the Block Development Officer, Chitrakonda Dist-, Malkangiri, monthly return of labour both skilled and unskilled employed by him on the work.
- 29. The tenderers are required to go through each clause of P.W.D. Form No.-P1carefully in addition to clauses mentioned herewith before tendering.

CONTRACTOR

- 30. No part of the contract shall be sublet without written permission of Block Development Officer. Chitrakonda Dist. Malkangiri or transfer is made by power of attorney authorizing others to receive payment on the contractor's behalf.
- 31. If further necessary information is required AEE/AE, Chitrakonda Block, Malkangiri will furnish such, but it must be clearly understood that the tenders must be received in order and according to the institutions.
- Cement shall be used by bags and weight of cubic meter of cement being taken as 14.42
 qtl.
- No contractors will be permitted to furnish their tenders in their own manuscript papers.
- 34. The following clauses have been revised / substituted as per Works Department Office memorandum No.12366 dtd.08.11.2013. Details can be seen in the website:https://tendersodisha.gov.in
- (f) Every bidder is expected before quoting his rate to inspect the site of the proposed work. The bidder should also inspect the quarries and approach roads to quarries and satisfy himself/themselves about the quality and availability of materials. In every case the materials must comply with the relevant specifications. Complaints at future date that the availability of materials at quarries has been misjudged cannot be entertained.

Amendment to Para.3.4.16(a)(vii) of OPWD Code Vol.1 by substitution.

- (ii) For the purpose of estimate, the approved quarry lead is to be provided judiciously. Engineers in charge would be responsible for ensuring the quality of the materials supplied. The contractors would, however, be responsible for procurement of materials from authorized sources and voluntarily disclose the source of procurement for the purpose of billing. Besides, the bidder would be required to submit the details of quarry for procurement while submitting the bids.
- 35. Government will not however after acceptance of contract rate pay any extracharges for lead or any other reason in case the contractor is found later on to have misjudged the materials available.
- 36. All fittings for doors and windows if supplied by the contractor should be of best quality and should be got approved by AEE/AE, Chitrakonda Block, Malkangiri, before they are used on the work.
- The tender containing extraneous conditions not covered by the tender call notice are liable for rejection.
- 38. (a) The contractor shall have to furnish a certificate in the prescribed proforma enclosed herewith along the tender to effort that he is not related to any officers of Block Development Officer. Chitrakonda Dis-Malkangiri.

(b) CERTIFICATE OF NO RELATIONSHIP

- I / We hereby certify that | / We are / are not related to any officers of Block Development Officer, Chitrakonda Dis- Malkangiri. I / We am / are also aware that if the facts subsequently proved to be false my / our contract will be rescinded with the forfeiture of B.M.D. and total security deposit and I / We shall be liable to make good of the loss or damage resulting from such cancellation.
- I / We also note that in case of non-submission of this certificate with tender my /our tender is liable for rejection.

Date...... Signature of Tenderer

- 39. All the tenders received will remain valid for a period Sixty days from the date of receipt tenders. The period of validity can also be extended it agreed to by the Department and the contractor.
- 40. After completion of the work, the contractor shall arrange at his own cost all requisite equipments for testing building if found necessary and bear the entire cost of such test.
- 41. Tenderers required to submit a list of works in their hand in the prescribed proforma herewith, (b) list T&P (c) List of works executed in their prescribed proforma enclosed herewith along with the tender.

CONTRACTOR

42. GOVERNMENT OF ORISSA FINANCE DEPARTMENT

- (Memo No.-48443 / F-Code-46 / 95 dated 11.12.1995 regarding "Discontinuance of the system of procurement of stock by Engineering Department").
 X X X
- 2. With a view to avoiding these situations Govt, have been pleased to decide that with effect from 01 04.96 there will neither purchase of department store materials nor booking of materials to show utilization of budget provision. It will be the responsibility of the contractor to purchase stores and utilize them in the work since materials like cement, steel etc. are easily and abundantly available at places, there will be no difficulty for contractors to procure the same. Therefore the future agreement with the contractors shall be executed accordingly and necessary modification to the agreement from may be made. In case where agreement have already been executed for department supply of materials, efforts should be made to fulfill the same by utilization to the existing stores and also through inter divisional and even inter department transfer of stores. Forutilization of the surplus materials, agreements may however be made for supplying of materials to the extent available. In this way the existing materials should be exhausted.
- 3. Maintenance work should be undertaken by purchasing materials in case of departmental execution of work by directly charging to site account or through contractors. There should not be advance purchase of materials for the sake of storing and utilizing the same in future works.
- 4. Consequent upon introduction of the new system the Engineer-in-Charge of the work will have to exercise strict quality control and ensure that materials used by the contractors conform to the standard specifications

X X

CONTRACTOR BLOCK DE

5. (a) Certificate of list of works in hand.

1 / We do hereby certify that at present the following works are in my / our hand.

SI.No.	Particulars of works now in hand	Amount of each work	Period in which the work is stipulated to be completed(In months)	Approximate value of work done against each work on the date of submission of tender	Department unde which the work is being taken up
1	-2	3	4	45	6

17 We also note that, non submission of this certificate will render my / our tender liable for rejection.

CONTRACTOR

(b) CERTFICATE OF THE LIST OF T & P

I / We do hereby certify that the following tools and plants, machineries and

vehicles are in my / our possession in working orders.

4			
n	'n.	з	r
v	š		,

(iii)

(iii)

(iv)

(v)

(vi)

(vii)

1/ We also note that, non submission of this certificate will render my / our tender

liable for rejection.

Marine Co.				
Date.	 	F10100000000000	620	

Signature of

Tenderer

(c) CERTIFICATE OF THE LIST OF WORK EXECUTED

L/ We do hereby certify that the following works have been executed by me / us

in the past.

I / We also note that, non submission of this certificate will render my / ender

liable for rejection.

51.N _v	Particulars of works already executed.	Approximate amount of each work	Name of Department under which the works executed.	Period of commencement and period of completion.	Whether the works were completed in stipulated period
1	2	3	4	5	6

I / We also note that, non submission of this certificate will render my / our tender liable for rejection.

CONTRACTOR

- 43. All reinforced cement concrete works like lintels, column, beam, chajja, roof slab and other such works should be finished smooth and no extra charges for plastering if required shall be paid by the department.
- 44. At their opinions quote reasonable rates for each item of the work carefully so that the rate for one item should not be unworkably low and others too high.
- 45. The tenderer shall bear cost of various incidental sundries and contingencies necessitated by the work falling within following or similar category.
- (a) Rent, royalties and other charges of materials octroi duties all other taxes including GST, ferry/tolls conveyance charges and other cost on account of land and building including temporary building required by the tenderer for collection of materials storage housing of staff or other by the tenderer for purpose of work. No rent will however be payable to Government for temporary occupation of land or owned by Government at the site of the work.
 - (b) Lubour cumps and huts necessary to suitable scale including conservancy and sanitary arrangements there on to the satisfaction of the local health authorities.
 - (c) Suitable water supply including pipe water supply wherever available for the staff

 And labour as well as for works:
 - (d) Fees and dues hired by Municipal. Canal and water supply authorities.
 - (e) Suitable equipments and wearing apparatus for the labourers engaged in risky operation.
 - (1) Suitable fencing barriers signals including paraffin and electrical signal where necessary at works and approaches in order to protect the public and employees from accidents.
 - (g) Compensation including cost of any suit for injury to persons or property due to neglect of any major precautions also sums which may become payable due to operation or Workmen's compensation Act.
 - (h) The contractor has to arrange adequate lighting arrangements for night works wherever necessary at his own cost.
 - (i) The contractor has to arrange all the building materials including the equipments required for under reamed pile foundation for starting the work.
 - 46. The prevailing percentage of I.T. Department of the gross amount of the bill and surcharge as applicable will be deducted from the contractor's bill towards Income tax.
 - 47. The prevailing of GST on the gross amount of the bill will be deducted from the contractor's bill.
 - 48. Under section 12 of the Contract labour regulation & abolition Act 1970, the contractor who undertakes execution of work through labour should produce valid license from Ucensing authority of labour department.
 - 49. The KB brick should be well burnt and of good qualities. The brick should be approved by the Engineer-in-Charge before use in the work and should confirm the minimum strengthen as per national building code.

BLOCK DEVELOPMENT OFFICER

CONTRACTOR

- 50. When department machinery will be utilized in the work by the contractors necessary and prevailing hire charges as fixed by the departments will be recovered from the contractor who may see the hire charges of the machinery in the office of the Block Development Officer, Chitrakonda Block, Malkangiri.
- Under no circumstances interest in chargeable for the dues or additional dues. If any payable for the work.
- 52. If the contractor quotes abnormally low rates for some items and the department decides to accept the tenders then the department would have the discretion of withholding the differential cost between the amount of low rated items and corresponding estimated amount from their payment due against other item till such low rated items are completed in full an as approved specification.
- 53. The following clauses have been revised / substituted as per Works DepartmentOffice memorandum No.12366 dtd. 08.11.2013. Details can be seen in the website: http://tendersodisha.gov.in.
- (i) Ammendment to Appendix-IX. Clause-36 of OPWD Code Vol.-11 by inclusion. If the rate quoted by the bidder is less than 15% of the tendered amount, then such abid shall be rejected and the tender shall be finalized basing on merits of rest bids. But if more than one bid is quoted at 14.99% (Decimals up to two numbers will betaken for all practical purposes) less than the estimated cost, the tender accepting authority will finalised the tender through a transparent lottery system, where all bidders / their authorized representatives, of the BDO & DRDA will remain present.
- (ii) Additional Performance security

As per Works Department Office Memorandum No. 14459 dtd. 20.09.2018 Additional Performance Security shall be obtained from the bidder when the bid amount is less than the estimated cost put to tender. In such an event only the successful bidder who has quoted less bld price / rafes than the estimated cost put to tender shall have to furnish as per the letter No.4559 dtd.05.04.2021 of (Dr.Krishna Kumar). Commissioner-cum-Secretary to Government. Works Department. Govt. of Odisha i.e time to time fix/change the rate of additional Performance Security (APS) as exact amount of differential cost i.e. estimated cost put to tender minus the quoted amount as Additional Performance Security (APS) in shape of Term Deposit Receipt/ National Savings Certificates/ Kisan Vikash Patra / Post Office Time Deposit Account/ Post Office Savings Bank Accounts / DepositReceipt /Bank Guarantee from any Nationalised Schedule Bank duly pledged in favour of the Block Development Officer within seven days of issue of LoA (Letter of Acceptance) Otherwise the bid shall be cancelled and the security deposit shall be forfeited. Further proceeding for black listing shall be initiated against bidder. If the Contractor fails to complete the work, the amount so furnished as additional performance security will be forfeited in addition to the other penal clauses, if any, tobe imposed,

54. Affidavit to be furnished by the contractor at the time of submitting of Tender about the authentication of Tender documents including Bank Guarantee.

An affidavit shall be furnished by the contractor at the time of submission of Tender papers about the authentication of tender documents including Bank Guarantee(Vide Govt. of Orissa, Works Department Code-14/2004-9414, dt-08.06.04, concurred by Law Department Finance, vide their U.O.R. No.-1242, dt-05.08.03 and No. 193/WF Ldt-04.03.04 respectively).

CONTRACTOR

- 55. Clauses for site engineer and road furniture etc, in DTCN / Agreement. In Works department Letter No.-10407, dt.-25.06.2004, the agencies executing major works should possesses full-fledged field laboratory for testing of the quality of the work. Under the same clause, the following provision is to be made as per Works Department No.-12351/W, dated 23,07,2004.
- An Engineering personnel of the executing agency should be present at work site at the time of visit of Inspecting Officers in the rank of APD(Tech)/AddI.P.D:(Tech), DRDA & per Senior officials 2) Brick Masonry Display Board should be constructed by the executive agency indicating Name of the department, Name of the work, estimated cost, financial year etc as per the direction of Engg- in-Charge.

Total 57 (Fifty Seven) Clauses Only

AEF/AE Chimakonda Block	Block Development Officer Chitrakonda Block
Essued to	
Sfi	
Class	e pale etta pia gra enta eti più anne die tio anna dea ata anne die più anne.
a star stars	

Last date of receipt of Tender	5th Sept' 2023					
Date of Opening	7th Sept, 2023 at 12.00 Noon					
Execution of Work	Within Seven days from issuance of work order.					
Venue	Block Conference Hall, Chitrakonda					

CONTRACTOR

Name of Project :-	
Percentage Rate Quoted in figure:-	
Percentage Rate Quoted in word:-	9
Total tender amount :-	
Total No. of Corrections	
Total No. of Over writings	
Total No. of Interpolation	
	Signature of the Contractor
1. In case of downloaded from official	web site:
Cost of tender paper for the work "	olumn No.4 against the project vide
	Chitrakonda, Malkangiri
For Office	use only
I) E.M.D.	Furnished / Not furnished Rs. In shape of Pledged/Not Pledged
2) Valid Registration certificate:-	Copy furnished/ Not furnished
3) PAN Card:-	Copy furnished Not furnished
4) GSTIN:-	Copy furnished Not furnished
5) Nos. of Tender paper:-	
 Cost of Tender paper in case of down lo demand draft 	pading i.e. Rs/- in shape of
	antes

CONTRACTOR

BLOCK DEVELOPMENT OFFICER CHITRAKONDA

	TENDER SCHEDULE							
N/	AME OF THE WORK:		-	-	ary Wa	II at Panasput HS		
- 7.2.		in Tea	cher Co		24 50752.50	CONTRACTOR		
SC	HEME : SETU/2021-22 (School & Mass Education)	CLASS OF CONTRACTOR: 'B' & 'C'				ACTOR : 'B' & 'C'		
Αīv	OUNT PUT TO TENDER (APPROX.) :Rs.1619008/-			At: Chitra	konda	Block		
CC	ST OF TENDER PAPER : Rs.6,000,00		DIST : MALKANGIRI			(RI		
EARNEST MONEY 1% : Rs1619008 /-				TIME OF C		ETION OF THE Months)		
S) No:	Items of Work	Unit	Quantit y	Rate per Unit		Amount		
1	Hartir work exacavation in foundation in hard soil within install lead and lift eto complete.	Cum.	85.18	206.77	Rs.	17612.00		
2	rilling foundation and plinth with sand well waterd and minimed etc. complete including all cost and conveyance.	Cum.	13:91	456.90	Rs.	6355.00		
3	Providing and laying P.C.C bed concrete (1:4:8) using 40 mm Hown grade size crusher broken hard granite metal including numbers, compacting to proper thickness, watering, curring to complete	(Čum:	13/91	5295.65	Rs.	73652.00		
4	IF BIT G stone masonary in cement mortar (1:6) in communition and Plinth including all cost, conveyance etc.		100.45	4252.86	Rs.	427189.00		
5	If Y (M.20 with 20 mm & downgrade size HGCB chips including mindum and laying, all cost, conveyance, royalty and taxes eleminate (excluding the cost of Steel but including the cost of othermy and shuttering)							
Α)	Plinth beam	Cum:	12.01	7268.30	Rs.	87280.00		
B)	Column footing	Cum.	0.47	6892.41	Rs.	3241,00		
G)	Column	Cum.	1.46	13012.82	Rs.	18973.00		
D)	Beam	Cum.	0.95	13012.62	Rs.	12297.00		
6	Cutting, bending, binding and placing in position of reinforcement steel for RCC work including cost of binding wire, steel, labour, tools etc complete:	QntL	13.68	8126 11	Rş.	111171.00		
7	Providing and laying CB brick masonary work for super structure over the beam for design thouroughly soaked in water with cement mortar 1.6 including necessary scaffolding, racking out joints, curring etc. complete as		82:358	5661 17	Rs.	466239:00		
8	12 mm thick cement plaster in cement mortar (1:6) over the outside wall surface including necessary scalfolding, curring etc. complete.	Sqm	392.48	170.47	Rs.	66905.00		
10	16 mm thick cement plaster in cement mortar (1:6) over the inside wall surface including necessary scaffolding curring etc. complete	Sgm	392.48	239.02	Rs.	93809.00		
9	20 mm thick cement plaster in cement mortar (1.6) over stone masonarysurface including , curring etc. cumplets	Sam	181,60	255.60	Rŝ.	46417,00		
111	Supplying fitting, fixing of M.S. Grill including cost of labour material transportation etc.	kg	316.33	92.22	Rs.	29172.00		

			Total	Rs.	1619008.00
4 Fnamel painting two coats including cost of all materials.	Sqm.	12.15	143.34	Rs.	1742.00
3 f*arriting 2 coats weather seal paint over a coat of primer including cost, conveyance of all material, labour, T-& P etc. complete.		966.55	144.15	Rs.	139328.00
Cement washing one coat including scafolding and deaning the surface before application	Sqm	966.55	18.24	Ŕs.	17626,00

(Rupees Sixteen Lakh Ninteen Thousand Eight Rupees) only.

Tender schedule for the project:

Construction of Boundary Wall at Panasput HS in Teacher Complex

under Chitrakonda Block is technically approved for Rs

1619008.00

(Rupees Sixteen Lakh Ninteen Thousand Eight Rupees) only.

No of corrections No of over writings No of Interpolsation

> Addl E O (Technical) Zilla Parisad ,Malkangiri

My quoted rate is _______% Less % Les

1 The contractor should not write any thing excepting quoting of percentage and in any case any thing else regarding tender rate is mentioned, the tenderer is liable for rejection.

with out rounding off.

 Strike out which are not applicable.
 Percentage quoted by the contractor shall be accurately filled in figures and words, so that there is: no discrepancy.

4. If any discrepancy is found in the percentage quoted in words and figures then the percentage quoted by The contractors in words shall be taken as correct.

The percentage quoted in the tender with out mentioning excess or less will be treated as excess. 6. The contractor should write percentage excess or less up to one decimal point only. If he writes the percentage excess or less up to two or more decimal points the first decimal point shall only be considered

TENDER SCHEDULE

NAME OF THE WORK:

Construction of Boundary Wall at Jodambo in Teachear Complex and School

SCHEME: SETU/2022-23 (School & Mass Education) CLASS OF CONTRACTOR: 'B' & 'C'

AMOUNT PUT TO TENDER (APPROX.) Rs.1082083/- At: Chitrakonda Block

COST OF TENDER PAPER: Rs.6,000.00 DIST: MALKANGIRI

COST OF TENDER PAPER : Rs.6,000.00					TIME OF COMPLETION OF THE			
EΑ	ARNEST MONEY 1%: Rs 1082083/-			TIME OF C		ETION OF THE Months)		
SI. No.	Items of Work	Unit	Quantity	Rate per Unit		Amount		
7	Earth work exacavation in foundation in hard soil within initial lead and lift etc. complete:	Cum.	57.46	206.77	Rs.	11880.00		
2	Filling foundation and plinth with sand well waterd and rammed etc. complete including all cost and conveyance.	Cum	9.29	456,90	Rs	4244 00		
3.	Providing and laying P.C.C bed concrete (1:4:8) using 40 mm down grade size crusher broken hard granite metal including rumming, compacting to proper thickness, watering, curring no complete.	:Çum	9.29	5132.57	Rs	47671.00		
	A.R.H.G stone masonary in cement mortar (1:6) in Loundation and Plinth including all cost, conveyance etc. manplete:	Cum,	66.38	4102.91	Rs.	272331.00		
5	HILL M-20 with 20 mm & downgrade size HGCB chips including housting and laying, all cost, conveyance, royally and taxes etc. complete (excluding the cost of Steel but including the cost of contemp and shultering)		1			=		
A)	Plinth beam	Cum.	7.94	6633.86	Rs.	52640.00		
B)	Column footing	Cum.	0.47	6257.97	Rs.	2943.00		
Ĉ)	Column	Cum.	1.22	12378.38	Rs.	15040:00		
D)	Bçami	Cum.	0.95	12378.38	Rs.	11698.00		
6	Cutting, bending, binding and placing in position of reinforcement steel for RCC work including cost of binding wire, steel, labour, tools etc. complete.	Qntl.	10.9973	8104.68	Rs.	89129.00		
7	Providing and laying CB brick masonary work for super structure over the beam for design thouroughly soaked in water with cement mortar 1:6 including necessary scaffolding, racking out joints, curring etc. complete as	Cum.	54,428	5578.95	Rs.	303649.00		
8	12 mm thick cement plaster in cement mortar (1:6) over the outside wall surface including necessary scaffolding, curring etc. complete.	Sqm.	259.43	169.73	Rs.	44032.00		
	16 mm thick cement plaster in cement mortar (1:6) over the inside wall surface including necessary scaffolding curring etc. complete.	Sqm.	259.43	238.14	Rs.	61779.00		
	20 mm thick cement plaster in cement mortar (1:6) over stone masonarysurface including , curring etc. complete.	Sqim.	120.00	254.44	Rs:	30533.00		
- 1	Supplying fitting, fixing of M.S Grill including cost of labour, material, transportation etc	kg	316.33	92.22	Rs.	29172.00		

12 Cement washing one coat including scafolding and cleaning the surface before application	Sqm.	638.85	18.02	Rs.	11510.00
13 Painting 2 coats weather seal paint over a coat of primer including cost, conveyance of all material, labour, T & P etc. complete.		638.85	144,15	Rs	92090 00
14 Enamel painting two coats including cost of all materials.	Sqm.	12.15	143.34	Rs.	1742.00
	l,		Total	Rs.	1082083.00

(Rupees Ten Lakh Eighty Two Thousand Eighty Three) only.

Tender schedule for the project:

Construction of Boundary Wall at Jodambo in Teachear Complex and School

under Chitrakonda. Block is technically approved for Rs.

1082083.00

(Rupees Ten Lakh Eighty Two Thousand Eighty Three) only.

No of corrections No of over writings No of Interpolsation

Executiv Addle of Technical (n)
Addl. Billa Parisad, Malkangiri
Zilla Parishod, Malkangiri
Zilla Parishod, Malkangiri

The contractor should not write any thing excepting quoting of percentage and in any case any thing else regarding tender rate is mentioned, the tenderer is liable for rejection.

Strike out which are not applicable.

Percentage quoted by the contractor shall be accurately filled in figures and words, so that there is no discrepancy.

4 If any discrepancy is found in the percentage quoted in words and figures then the percentage quoted by the contractors in words shall be taken as correct.

1. The percentage quoted in the tender with out mentioning excess or less will be treated as excess.

If The contractor should write percentage excess or less up to one decimal point only. If he writes the percentage excess or less up to two or more decimal points the first decimal point shall only be considered with our rounding off.



TENDER SO	HED	ÜLE					
E OF THE WORK :	Const	ruction o	of Boundar	y Wal	Jantapai PUPS		
ME : SETU/2021-22 (School & Mass Education)			CLASS OF	CLASS OF CONTRACTOR: 'B' & 'C'			
INT PUT TO TENDER (APPROX.) :Rs.1614743/-			At: Chitra	konda	Block		
OF TENDER PAPER : Rs.6,000.00			DIST : MAL	KANG	IRI		
EST MONEY 1% : Rs16147/-			TIME OF C		TION OF THE		
Items of Work	Unit	Quantit			Amount		
th work exacavation in foundation in bard soil within initial id and life ent. complete	Cum	109,15	206.80	Rs.	22572.00		
ling foundation and plinth with sand well waters and mmed etc. complete including all cost and conveyance.	Cum,	61.19	823.60	Rs.	50396,00		
oviding and laying P.C.C bed concrete [1:3:6] using 40 mm wn grade size crusher broken hard granite metal including mming, compacting to proper thickness, watering, curring complete.	Cum.	16.54	4341.30	Rs.	71805.00		
6. Brick work in C.M. (1:6) in F & P	Cum	40.57	4279,56	Rs.	173622.00		
B Brick work in C.M. [1:6] in Superstructure	Cum	101.43	4355.70	Rs.	441799.00		
C.C M-20 with 20 mm & downgrade size HGCB chips including isting and laying, all cost, conveyance, royalty and taxes etc. implete (excluding the cost of Steel but including the cost of intering and shuttering)							
inth beam	Cum.	15.55	8072.20	Rs:	125523.00		
olumn footing	Cum.	14.88	6306.00	Rs:	93833.00		
plumn	Cum:	4.57	12429.60	Rs.	58046.00		
ipplying. Fitting and placing uncoated HYSD bar inforcement as per drawing and technical specification.	Qnti	35.10	9240.50	Rs.	324342.00		
mm thick CP in CM(1:6) over bricks work	Gúm	441.00	158.50	R _S	69899-00		
mm thick CP in CM(1.6) over bricks work	Cam.	441.00	224.60	Rs.	99049.00		
olor washing 2 coats with Enamel Paint	Cum.	882.00	75.80	Rs.	66856.00		
ost of Enamel Paint (Onty, Same as Item no-10)	Kg	352.80	205.34	Rs.	72444.00		
				Rs	1614743		

(Rupees Sixteen Lakhs Fourteen thousands Seven hundrad and Fourtythree) only.

Tender schedule for the project

Construction of Boundary Wall Jantapai PUPS

nder Chitrakonda Block is technically approved for Rs

1614743,00

Rupees Sixteen Lakhs Fourteen thousands Seven hundrad and Fourtythree) only.

No of over writings No of over writings No of Interpolsation

Addl E O (Technical)
Zilla Parisad ,Malkangiri

	TENDER SC	HED	ÜLE			
NAME OF THE WORK : Construction of Boundary Wall Jan						
sc	HEME : SETU/2021-22 (School & Mass Education)			CLASS OF	CONTRA	ACTOR : 'B' & 'C'
AM	OUNT PUT TO TENDER (APPROX.):Rs.1614743/-			Atı Chitra	konda	Block
co	ST OF TENDI II PAPER : Rs.6,000.00			DIST : MAI	KANG	IRI
ΕĀ	RNEST MONLY 1% RS16147/-			TIME OF C	Processor 10.00	ETION OF THE Months)
Si. No.	Items of Work	Unit	Quantit Y			Amount
1	Earth work in a maniferent boundation in hard soil within initial lead and different completes	Cum.	109.15	206.80	Rs;	22572.00
2	Filling found ours and plinth with sand well waterd and rammed on conveyance.	Cum.	61_19	823.60	Rs.	50396.00
3.	Providing July Laying 1911 had concrete (1:3:6) using 40 mm down gradic size initial broken hard granite metal including familiar initial to proper thickness, watering, curring etc. contidet.	Çum.	16/54:	4341_30	Rs.	71805.00
4	K.B. Buch work and M (1 p) to F & P	Çüm	40:57	4279.56	Rs	173622 00
5	K.B. Brick work in: M. (if A) in Superstructure.	Cum.	101.43	4355.70	Rs.	441799.00
6	R.C.C M-24 with 70 January Inwargrade Size HGCB chips including hoisting and laying all mint, conveyance, royalty and taxes etc. complete (use limiting the cost of centering and allufactors).					
a)	Plintle beau	.Cum	15.55	8072.20	Rs.	125523.00
b)	Column Reduct	.Ćum.	14.88	6306.00	Rs.	93833.00
c)	Column	Cum.	4.67	12429.60	Rs.	58046.00
7	Supplying 1 iffing and placing uncoated HYSD bar reinforcement as per drawing and technical specification.	Qniti	35.10	9240.50	Rs.	324342.00
В	12mm thirk till not MIT follover bricks work.	Çum	441.00	158.50	Rs.	69899.00
9	15mmthu k.t.l. not M(1 tipover bricks work	Cum.	441.00	224.60	Rs.	99049,00
10	Colonwashing Zumits with Framel Paint	Cum.	882_00	75.80	Rs.	66856.00
11	Cost of Lucional County Same as item no-10).	Kg	352.80	205.34	Rs.	72444.00
					Rs.	1614743

(Rupces Sixteen Lakhs Fourteen thousands Seven hundrad and Fourtythree) only.

4- mb in salter dialoction the project"

Construction of Boundary Wall Jantapai PUPS

under ("tutralism to tillimle is furthrically approved for Rs

1614743.00

(Rupuse Sixteen traktes Louiteen thousands Seven hundred and Fourtythree) only.

No of corrections No of over writings No. of Interpolsation



TENDER SCHEDULE Construction of Boundary Wall at Sarkubandha NAME OF THE WORK: UGHS & Teacher Complex CLASS OF CONTRACTOR : 'B' & 'C' SCHEME: SETU/2021-22 (School & Mass Education) AMOUNT PUT TO TENDER (APPROX.): Rs.1619008/-At: Chitrakonda Block COST OF TENDER PAPER: Rs.6,000.00 DIST: MALKANGIRI TIME OF COMPLETION OF THE EARNEST MONEY 1%: Rs1619008/-WORK: 6 (Months) Quantit Rate per SII Amount Items of Work Unit Muy Unit 1 Farth work exacavation in foundation in hard soil within Cum. 85.18 206,77 17612.00 Rs. milial lead and lift etc. complete. 2 Inling toundation and plinth with sand well waterd and Cum 13.91 456.90 6355.00 Rs. minimed etc. complete including all cost and conveyance. 3 Truviding and laving P.C.C bed concrete (1:4:8) using 40 mm Hown grade size crusher broken hard granite metal including 13.91 Cum 5295 65 Rs 73652.00 running, compacting to proper thickness, watering, curring tcomplete. 4 ILR II G stone masonary in cement mortar (1:6) in Emundation and Plinth including all cost, conveyance etc. Cum. 100.45 4252.86 Rs. 427189.00 HIC G M-20: with 20 mm & tlowngrade size HGC8 chips including huisting and laying, all cost, conveyance, royalty and faxes etc. mobilete lexiculating the cost of Steel but including the cost of initiating and shuttering) A) Plinth beam 12.01 7268.30 Rs 87280.00 Cum B) Column footing 0.47 6892.41 Rs. 3241.00 Cum. C) Column 1.46 Cum. 13012.82 Rs. 18973.00 D) Beam Cum. 0.95 13012.82 Rs. 12297.00 Cutting, bending binding and placing in position of reinforcement steel for RCC work including cost of Onti. 13.68 8126.11 Rs. 111171.00 binding wire, steel, labour, tools etc. complete. / Providing and laying CB brick masonary work for super structure over the beam for design thouroughly soaked Cum, 82.358 5661.17 Rs. 466239.00 in water with cement mortar 1,6 including necessary scaffolding, racking out joints, curring etc. complete as 8 12 mm thick cement plaster in cement mortar (1:6) over outside wall surface including necessary Sam 392.48 170.47 Rs. 66905.00 scaffolding, curring etc. complete 10 16 mm thick cement plaster in cement mortar (1.6) over the inside wall surface including necessary Sqm. 392.48 239.02 Rs. 93809.00 scaffolding, curring etc. complete 9 20 mm thick cement plaster in cement mortar (1:6) over stone masonarysurface including , curring etc. Sam. 181.60 255,60 Rs. 46417.00 complete. 11 Supplying fitting, fixing of M.S Grill including cost of labour, material, transportation etc. 316.33 92_22 Rs. 29172.00 kg

				Total	Rs.	1619008.00
14	Enamel painting two coats including cost of all materials	Sqm.	12.15	143.34	Rs_	1742,00
13	Painting 2 coats weather seal paint over a coat of primer including cost, conveyance of all material, labour, T & P etc. complete.		966.55	144.15	Rs.	139328.00
12	Cement washing one coat including scafolding and oleaning the surface before application	Sam	966.55	18 24	Rs	17626 00

(Rupees Sixteen Lakh Ninteen Thousand Eight Rupees) only.

Tender schedule for the project.

Construction of Boundary Wall at Sarkubandha UGHS & Teacher Complex

under Chitrakonda Block is technically approved for Rs

1619008.00

(Rupees Sixteen Lakh Ninteen Thousand Eight Rupees) only.

No of corrections No of over writings No of Interpolsation

> Addl E O (Technical) Zilla Parisad "Malkangiri

1 The contractor should not write any thing excepting quoting of percentage and in any case any thing else regarding tender rate is mentioned, the tenderer is liable for rejection

2 Strike out which are not applicable.

 Percentage quoted by the contractor shall be accurately filled in figures and words; so that there is no discrepancy

4 If any discrepancy is found in the percentage quoted in words and figures then the percentage quoted by the contractors in words shall be taken as correct.

5 The percentage quoted in the tender with out mentioning excess or less will be treated as excess.

The contractor should write percentage excess or less up to one decimal point only. If he writes the percentage excess or less up to two or more decimal points the first decimal point shall only be considered with out rounding off.



TENDER SCHEDULE

NAME OF THE WORK:

Construction of Boundary Wall at Badapada PUPS in Teacher Complex & School

BCHEME: SETU/2022-23 (School & Mass Education)

CLASS OF CONTRACTOR: 'B' & 'C'

AMOUNT PUT TO TENDER (APPROX.):Rs.1075394/-

At: Chitrakonda Block

COST OF TENDER PAPER : Rs.6,000.00

DIST : MALKANGIRI

ĕΫ	DOLOG TENDER PAPER: NS.0,000,00				DIST: MALKANGIRI			
ΕÀ	RNEST MONEY 1%: Rs 1075394/-			TIME OF COMPLETION OF THE WORK: 6 (Months)				
51 No.	Items of Work	Unit	Quantity	Rate per Unit		Amount		
1	Lartin work exacavation in foundation in hard soil within mutual fruid and lift etc. complete	Cum.	57.46	206.77	Rs.	11880.00		
2	Hilling loonnation and plinth with sand well waterd and conveyance.	Cum.	9.29	456.90	R's.	4244.00		
3	Providing and laying P.C.C bed concrete (1:4:8) using 40 mm down made size crusher broken hard granite metal including manning, compacting to proper thickness, watering, curring to proper thickness, watering, curring the complete.	Cum	9.29	5208 92	Rs	48380 00		
	If it (It is stone masonary in cement montar (2:6) in immunition and Plinth including all cost, conveyance etc	Com.	66.38	4211,76	Rs.	279556.00		
5	In the M 20 with 20 mm & downgrade size HGCB chips including limit. In m and laying, all cost, conveyance, royally and taxes etc. compliate (excluding the cost of Steel but including the cost of the							
A)	Plinth beam	Cum.	7.94	6709.57	Rs.	53240.00		
В)	Column footing	Cumi.	0,47	6333.67	Rs.	2978.00		
C)	Column	Cum.	1.22	12454.09	Rs.	15132.00		
D)	Beam	Ćum.	0.95	12454.09	Rs.	11769.00		
6	Entling bending binding and placing in position of reinforcement steel for RCC work including cost of binding wire steel, labour, tools etc. complete.		111.00	8073.16	Rs	88783.00		
	Providing and laying CB brick masonary work for super structure over the beam for design thouroughly scaked in water with cement mortar 1.6 including necessary scaffolding, racking out joints, curring etc. complete as	Cum	54.428	5320.78	Rs	289597 00		
	12 mm thick cement plaster in cement mortar (1:6) over the outside wall surface including necessary scaffolding, curring etc. complete.	Sqm.	259.43	168.66	Rs.	43755,00		
	16 mm thick cement plaster in cement mortar (1.6) over the inside wall surface including necessary scattolding curring etc complete		259.43	236:85	Rs	61445.00		
9	20 mm thick cement plaster in cement mortar (1:6) over stone masonarysurface including , curring etc. complete.	Sqm.	120.00	252 73	Rs	30328 00		
14	Supplying fitting, fixing of M.S. Grill including cost of labour material, transportation etc.	kg	316.33	92.22	Rs.	29172.00		
	<u></u>							

				Total	Rs.	1075394.00
14	Enamel painting two coats including cost of all materials	.Sqm.	12.15	143.34	Rs	1742:00
13	Painting 2 coats weather seal paint over a coat of primer including cost, conveyance of all material, labour, T & P etc. complete.	:Sqm.	638.85	144:15	Rs.	92090.00
12	Cement washing one coat including scafolding and cleaning the surface before application	Sqm.	638,85	17.69	Rs.	11303.00

(Rupees Ten Lakh Seventy Five Thousand Three Hundred Ninty Four) only.

Fender schedule for the project.

Construction of Boundary Wall at Badapada PUPS in

Teacher Complex & School

under Chitrakonda Block is technically approved for Rs.

1075394.00

(Rupees Ten Lakh Seventy Five Thousand Three Hundred Ninty Four) only.

No of corrections No of over writings No. of Interpolsation

> Addtilla Parisad Malkandiri Zilla Parishad, Main giri

My quoted rate is ______ % Excess _____ % Less :: Lloth in figure and words) over the above amount put to tender.

I The contractor should not write any thing excepting quoting of percentage and in any case any thing else regarding tender rate is mentioned, the tenderer is liable for rejection.

? Strike out which are not applicable.

3. Percentage quoted by the contractor shall be accurately filled in figures and words, so that there is nucdiscrepancy.

If any discrepancy is found in the percentage quoted in words and figures then the percentage quoted by the contractors in words shall be taken as correct.

5. This percentage quoted in the lender with out mentioning excess or less will be treated as excess.

5. The contractor should write percentage excess or less up to one decimal point only. If he writes the percentage excess or less up to two or more decimal points the first decimal point shall only be considered with out rounding off



TENDER SCHEDULE Construction of 02 Nos Addl. Class Room at NAME OF THE WORK: Bezing PS CLASS OF CONTRACTOR: 'B' & 'C' SCHEME: SETU/2021-22 (School & Mass Education) AMOUNT PUT TO TENDER (APPROX.) :Rs:1138493/-At: Chitrakonda Block COST OF TENDER PAPER: Rs.5,000,00 DIST: MALKANGIRI TIME OF COMPLETION OF THE EARNEST MONEY 1%: Rs1138493 /-WORK: 6 (Months) Quantit Rate per SL Items of Work Unit Amount NΦ Unit 1 I July work execavation in foundation in hard soil within initial Cum. 42.26 8739.00 206.77 Rs. haid and lifeers, complete. 2 Infling foundation and olinith with sand well waterd and 44.00 Cum. 456.90 20106:00 Rs. collunied etc. completé including all cost and tonveyonte. 3 Providing and laying P.C.C bed concrete (1.4:8) using 40 mm nown grade size crusher broken hard granite metal including 15.97 Cum. 5208.92 Ħs. 83175.00 HARMING, compacting to proper thickness, watering, curring TOXIDIESE 4: If the sturm masonary in cement mortar (1:6) in Foundation and Planthare hading all cost, conveyance etc. complete: 22.07 4211.76 92943.00 Cum. RS. 5 TT I M 20 writt 20 mm & downgrade size HGCB chros industria multing and trying, all host conveyance, royalty and taxes etc minimize to seek of camering the cost of Staer put including the cost of camering روالانظاللات للبات a) Plinth beam 3.22 6709.57 Rs. Cum. 21637.00 b) Column footing 5.88 Cum: 6333.67 37237.00 Rs. C) Column Cum. 2.40 12454.09 29845.00 Rs. d) Lintet 1.32 7581.80 10003.00 Cum. Rs. c) Beam Cum. 5.54 12454.09 69014.00 Rs. ħ Roof Slab 11.10 Cum. 10739.93 Rs. 119176.00 g) Chaija Cum. 0.63 10739.93 Rs. 6727.00 Butting, bending, binding and placing in position of reinforcement steel for RCC work including cost of Qnti. 29.50 8073.16 238128.00 Rs. binding wire steel, labour, tools etc. complete. 7 Providing and laying CB brick masonary work for super structure over the beam for design thouroughly soaked Cum. 21.9035320.78 Rs. 116543.00 in water with cement mortar 1.6 including necessary scallfolding, racking out joints, curring etc. complete as Fixing tiles in floors, treads and steps on 25 mm thick but of cement mortar 1:4 joined with neat cement slurry mixed with pigments to match the shades of the Som. 107.21 1034.55 Rs. 110912 00 tile including rubbing, polishing and cost of precast tiles etc. complete.

9.41

1210.19

Rs.

11389.00

9 Fixing ceramic files in dados, skirting and riser of steps in 12mm thick cement plaster 1.3 jointed with near

of the tiles including rubbing, polishing and cost of

incopast files

coment slurry mixed with pigments to match the shade Sqm.

Ī				Total	Rs.	1138493.00
17	Ensured painting two coats including cost of all quatroids	Sqm.	21,74	143.34	Rs.	3115.00
16	Punting 2 coats weather seal paint over a coat of primer multiding cost, conveyance of all material, labour, T & P. P. complete.		144.70	144.15	Rs.	20858.00
5	Instrumening. Two coats with approved thinmpur including cost of all amterial and labour etc.	Sqm:	109.33	67.86	Rs.	7419.00
14	Applying one coat of primer of approved	Sqm.	333.34	59.07	Rs.	19690.00
13	Rupplying fitting, fixing of M.S. Grill including cost of Induous material, transportation etc.	kg	561.10	92.22	Rs.	51745.00
12	20 mm thick cement plaster in coment mortar (1:6) over strine masonarysurface including , curring etc. complete.	Sqm.	21.91	252.73	Rs.	5537,00
11	10 unm thick cement plaster in cement mortar (1.6), over the inside wall surface including necessary walfolding, curring etc. complete.	Sqm:	142.90	236.85	Rs.	33846.00
10	1.2 mm thick cement plaster in cement mortar (1:6) over the outside wall surface including necessary scaffolding, curring etc. complete.		122.79	168.56	Rs.	20709.00

(Rupees Eleven Lakh Thirty Eight Thousand Four Hundred Ninty Three) only.

Lander Schedule for the project:

Construction of 02 Nos Addl Class Room at Bezing

conter Chitrakonda Block is technically approved for Rs

1138493:00

(Rupees Eleven Lakh Thirty Eight Thousand Four Hundred Ninty Three) only.

No of corrections No of over writings No. of Interpolsation

Rel 12 5 1 23 Executive Engineer, 5WSSS-cum Add Adpl 5 Q (Tetroiten (Tech)

1 The contractor should not write any thing excepting quoting of percentage and in any case any thing else regarding tender rate is mentioned, the tenderer is liable for rejection.
2 Strike out which are not applicable.

3. Percentage quoted by the contractor shall be accurately filled in figures and words, so that there is om discrepancy

4 If any discrepancy is found in the percentage quoted in words and figures then the percentage quoted by the contractors in words shall be taken as correct.

5. The percentage quoted in the tender with out mentioning excess or less will be treated as excess.

6. The contractor should write percentage excess or less up to one decimal point only. If he writes the percentage excess or less up to two or more decimal points the first decimal point shall only be considered. with out rounding off



TENDER SCHEDULE

Name of the Project :- Construction ACR Building at Mandapali PS GP-Dhuliput, Dist-Malkangiri

	Malkangiri		opan (a)		24 2.00
Cos	st of Tender Paper : Rs.4000/ 6 1700 -		Class of C	Contracto	D/C
Αm	ount put to Tender (Approx.) (919681.00) 1146377	1-	At:	Mal	kangiri
Co	st of Tender Paper : Rs 4000/- 4000		Dist. :	Mal	kangiri
Ear	nest Money : Bid Security Declaration 11 Emb			r comple : 4 (Four	tion of the) Months
SL :	ITEM OF WORKS	QUA NTIT	TINOT	RATE in Rs	AMOUNT in Rs
1	2	3	4	5	6
4	Supplying all materials, labour, T& P and Earth work in excavation of foundation trenches in ordinary soil except sheet rock and boulders (requiring blasting) including dressing and leveling the bed upto the required depth and depositing the excavated materials away form the site with all leads and lifts. T & P shoring and shuttering if required etc. complete as directed by engineer- in charge.	Cum	36.20	206.80	7486.16
2	Supplying all materials, labour, T& P and and filling in foundation and ditches with sand well watered and rammed in layers not exceeding 23 cm in depth with all lead and lift including cost, conveyance, loading and unloading, royalties and taxes of all materials and cost of all labour, sundries, T & P required for the work etc complète in all respect as per direction of Engineer incharge.	Cum	42.10	342.40	14415.04
3	Supplying all materials, labour, T& P and Providing & laying plain cement concrete 1:4:8 (1 cement 4 coarse and 8 graded stone aggregate to 40 mm nominal size) in foundation and pinth including cost of hoisting, lowering laying concrete, ramming, watering and curing etc. complete to required levels laid in layers not exceeding 15cm thick including cost. Conveyance, loading and unloading, royalties and taxes all materials and cost of all labours, sundnes. T & P required for the work complete including dewatering if required as epr instruction of Engineer-in- charge.	Cum	6.15	4786.20	29435.13
	Supplying all materials, labour, T& P and RR stonemasonay in commet mortar of (1.6) with portland slag coment, watering and curing etc. including cost, conveyance, loading and unloading, royalities and taxes of all materials and cost of all lbaour sundries T& P required for the works etc complete in all respect as directed	Cum	28.25	4398 10	124246 33
	Supplying all materials, labour, T& P and Providing and laying C.B brick masonary work in super structure throughly soked in water with cement mortora (1:6) including necessary scaffolding, racking out joints, curing, etc. complete. As per specification and direction of the Equipment in spaces.		27.59	4245.20	117125.07

1	2	3	4	5	6
6	Supplying all materials, labour, T& P andi. Providing , lifting hoisting				
	laying Reinforced cement concrete of M20 grade in column				
	footings, as per approved designs and drawings having a				
	munimum compressive strength (in work test) 200 Kg./ Square				
	cm in 15cm. Cubes at 28 days after mixing and tests conducted in				
	accordance with I S 418 using 12mm to 20 mm size black hard			1 1	
	crusher broken granite stone ships of approved quality from approved quarry washed and cleaned (20mm size not to exceeds				
	25%) to be mixed in concrete mixture with ordinary protland				
	cement (OPC) including noisting, lowering lying an deempacting				
	concrete by susing vibrators, watering and curing for 28 days				
	centering and shuttering and finishing the exposed surface smooth				
	proving grooves or beads wherever necessary including cost				
	conveyance, loading and unloading royalities and taxes of all				
	materials and cost of all labours sunones , T & P required for the				
	work ect complete in all respect excluding cost and conveyance of				
	HYSD/MS steel and binding wires, and labour charges for			1	
_	straightaining, cutting, bending etc of M.S. rods of for steel and		E 07	E024 60	22622 47
a b	Column Base Column Up to Plinth	Cum	5.67 1.86		33632.17 22422.67
Ċ	Grade Beam	Cum	2.75		21168.95
ď	Lintel Beam	Cum	1.84		17712.39
f	Ring Beam	Cum	5.49	12055.20	66183.05
g	Chajja	Cum	0.94	13085.80	12300.65
h	Roof Slab	Cum	12.45	10342.50	128764.13
7	Supplying all materials, labour, T& P and Cutting, bending binding	Qnti	27.12	9244.90	250698.11
_	and placing in position of reinforcement steel for RCC work				2000000
В	25mm thick grading plaster with C.M. (1:4) over roof slab complete in all respect.	Cum	99.69	322.70	32169.96
9	Supplying all materials, labour, T& P and fitting and fixing of M.S				
	Door, M. S grill for windows and ventilators including cost of labour,	- Date of	107.00	24.00	1001000
_	a) Door	Kg	167.86		13646.69
40	b) Window:	Kg	278.63	78.80	21955.65
10	Supplying all materials, labour, T& P and Labour for Fitting fixing of doors/windows etc complete.	Sqm	12,63	67,40	851.26
11	Supplying all materials, labour, T& P and 12mm thick cement	-			
	plaster in cement mortar (1:6) over the out side wall surface		107.39	155.80	16731.36
	including necessary scalfolding, curring, etc. completed.				
12	Supplying all materials, labour, T& P and 16mm thick cement				
	plaster in cement mortar (1:6) over the inside wall surface urface	Sqm	169.82	221.40	37598.15
4.3	including necessary scaffolding, curring, etc. completed.				
13	Supplying all materials, labour, T& P and Fixing of Virtified tiles in	I .			
	floors treads or steps and landing on 25mm thick bed of cement	I			
	mortar 1:1 (1cement : 1sand) jointed with neat cement slury mixed		92.78	1293.10	119973.82
	with pigment o match the shades of the tiles including rubbing and				
	polishing complete excluding cost of precast TILES				
14	Supplying all materials, labour, T& P and Fixing Chegured tiles in				
	floors on 25 mm thick bed of cement morter (1:1) joined with next		6 95	1070.40	7439.28
	cement slurry mixed with pigment to match the shades of the tiles incl. rubbing and polishing complete incl. cost of tile etc all	"		n = = =	55=5
4.5	Supplying all materials, labour, T& P and 20 mm thick cement				
¥9	plaster (1.4) over Stone work with cost of all materials and all		28.49	233.50	6652.42
16	Supplying all materials, labour, T& P and Priming 1 coat with any				
	approved primer including cost per 1 Sqm. (Plastered surface)	Sqm	156.56	62.70	9816.31
17	Supplying all materials, labour, T& P and Weather Coat 2 coats to				
	the inner walls & ceiling complete in all respect.	Sqm	156.56	75.80	11867.25

1	2	3	4	5	6
	Supplying all materials, labour, T& P and Distempering two coat to walls with distemper of approved shade on new work to give an even shade including cost per 1 Sqm.		257.15	67.90	17460.49
19	Supplying all materials, labour, T& P and Providing two coat of enamel paint over the grill work including cost of all materials and	Sqm	32.14	143.90	4624.95
				TOTAL	1146377.43
				Or Sav	1146377.00

Cost of the Project

Total No. of Items -19 Nos

(Rupees Nine lakh nineteen thousand six hundred eighty one)only

Addl. P.D (Tech.) DRDA, Malkangiri

My Quoted rate is	% excess	% less
Rath in tinures and words hove	the amount out to lender	

Signature of the Contractor

Note:

- 1. The contractor should not write any thing excepting quoting of percentage and in any case any thing else
- 2. Strike and which are not applicable.
- 3 Percentage quoted by the contractor shall be accurately filled in figures and words, so that there is no
- 4. If any descripancy is found in the percentage quoted in words and figures then the percentage quoted by the
- 5 The percentage quoted in the tender without mentioning excess or less will be treated as excess.
- The contractor should write percentage excess or less upto one decimal point only. If he writes the percentage excess or less upto two or more decimal points the first two ecimal point shall only be considered without rounding off



	TENDER SO	HED	ULE				
NA	ME OF THE WORK :		ruction o gudi PS	of 02 Nos	Addl.C	lass Room at	
SCHEME : SETU/2021-22 (School & Mass Education) AMOUNT PUT TO TENDER (APPROX.) :Rs.1138493/-			_	CLASS OF CONTRACTOR: 'B' & 'C'			
				At: Chitra	konda	Block	
CO	ST OF TENDER PAPER : Rs.6;000.00			DIST : MAL	KANGI	RI	
EA	RNEST MONEY 1% : Rs1138493 /-			TIME OF COMPLETION OF THE			
St			Quantit	WORK : Rate per	6 (Months)		
No	Items of Work	Umit	у	Unit		Amount	
1	Earth work exacavation in foundation in hard soil within initial lead and lift etc. complete	Cum.	42,26	206,77	Rs.	8739.00	
	Filling foundation and plinth with sand well waterd and rammed etc. complete including all cost and conveyance.	:Cum.	44.00	456.90	Rs.	20106.00	
3	Providing and laying P.C.C bed concrete (1-4:8) using 40 mm down grade size crusher broken hard granite metal including mining, compacting to proper thickness, watering, curring and complete.	Eum	15:97	5208 92	Rs.	83175:00	
4	R.R H/G stone masonary in coment mortar (1:6) in Foundation and Plinth Including all cost, conveyance etc. complete	Bum	22.07	4211.76	Rš-	92943.00	
5	IF, C. M. 20 with 20 mm & clowing ade size HGCB chips including limiting land laying, all cost conveyance, royally and taxes etc. inamplete (excluding the cost of Steal but including the cost of centering and shuttering).						
a)	Plinth beam	įĒμηγ.,	3,22	6709.57	Rs.	21637.00	
lž).	Column footing	Cum.	5.88	6333.67	Rs.	37237.00	
(:)	Column	Cum	2.40	12454.09	Rs.	29845.00	
d)	Lintel	Œumi.	1.32	7581.80	Rs.	10003.00	
c)	Beam	Cam.	5.54	12454.09	Rs.	69014.00	
f)	Roof Slab	ιĒμηγ.	11.10	10739.93	Rs.	119175.00	
g)	Chajja	Cum	D:53	10739 93	Rš	67/27/00	
6	Cutting, bending, binding and placing in position of reinforcement steel for RCC work including cost of binding wire, steel, labour, tools etc. complete.		29.50	8073 16	Rš.	238128:00	
7	Providing and laying CB brick masonary work for super structure over the beam for design thouroughly soaked in water with cement mortar 1:6 including necessary scaffolding, racking out joints, curring etc. complete as	Čumi	21 903	5320.78	Rs.	116543 00	
8	Fixing tiles in floors, treads and steps on 25 mm thick bed of cement mortar 1.4 joined with neat tement slurry mixed with pigments to match the shades of the tile including rubbing, polishing and cost of precast tiles etc. complete.		107 21	1034.55	Rs.	110912.00	
9	Fixing ceramic tiles in dados, skirting and riser of steps on 12mm thick cement plaster 1:3 jointed with neat tement slurry mixed with pigments to match the shade of the tiles including rubbing, polishing and cost of precast tiles.	Sqm	9.41	1210:19	Ŕs.	11389,00	

				Total	Rs.	1138493.00
17	Enamel painting two coats including cost of all materials.	Sami	21.74	143.34	Rs.	3115.00
16	Painting 2 coats weather seal paint over a coat of primer including cost, conveyance of all material, labour, T & P etc. complete.		144,70	144,15	Rs.	20858.00
5	Distempering Two coats with approved distemper including cost of all amterial and labour etc.	5діп∟	109 33	67.86	Rś	7419 00
4	Applying one coat of primer of approved	Sam.	333,34	59.07	Rs.	19690.00
3	Supplying fitting, fixing of M.S Grill including cost of labour, material, transportation etc.	kg	561,10.	92.22	Rs.	51.745.00
2	20 mm thick cement plaster in cement mortar (1:6) over stone masonarysurface including curring etc complete	Sqm.	21 91	252 73	Rs.	5537_00
1	16 mm thick cement plaster in cement mortar (1:6) over the inside wall surface including necessary scaffolding, curring etc. complete.		142-90	236,85	Rs.	33846-00
U	12 mm thick cement plaster in cement mortar (1:6) over the outside wall surface including necessary scaffolding curring etc. complete.		122.79	168.66	Rs.	20709.00

(Rupees Eleven Lakh Thirty Eight Thousand Four Hundred Ninty Three) only

Fender schedule for the project.

Construction of 02 Nos Addl Class Room at Bihangudi PS

under Chitrakonda Block is technically approved for Rs

1138493.00

(Rupees Eleven Lakh Thirty Eight Thousand Four Hundred Ninty Three) only.

No of corrections No of over writings No of Interpolsation

% Excess My quoted rate is (Soth in figure and words) over the above amount put to tender

1. The contractor should not write any thing excepting quoting of percentage and in any case any thing else regarding tender rate is mentioned, the tenderer is liable for rejection.

2 Strike out which are not applicable.
3 Percentage quoted by the contractor shall be accurately filled in figures and words, so that there is no discrepancy,

4. If any discrepancy is found in the percentage quoted in words and figures then the percentage quoted by the contractors in words shall be taken as correct.

5. The percentage quoted in the tender with out mentioning excess or less will be treated as excess. The contractor should write percentage excess or less up to one decimal point only. If he writes the percentage excess or less up to two or more decimal points the first decimal point shall only be considered with out rounding off.



TENDER SCHEDULE

Name of the Project :- Construction ACR Building at Limatang PS GP-Dhuliput, Dist-Malkangiri Rs.4000/~ Cost of Tender Paper : 0000 Class of Contracto D / C Amount put to Tender (Approx.): 919681.00 At: Malkangiri Cost of Tender Paper: Rs.4000/ Dist. : Malkangiri Time for completion of the 1.4. EWB Earnest Money : Bid Security Declaration work: 4 (Four) Months RATE SL QUA AMOUNT ITEM OF WORKS UNIT NTIT in Rs in Rs 1 3 4 S 6 Supplying all materials, labour, T& P and Earth work in excavation of formulation trenches in ordinary soil except sheet rock and boulders recogning blasting) including dressing and leveling the bed upon the required depth and depositing the excavated Cum 36.20 206.80 7486.16 materials away form the site with all leads and lifts. T & P shoring and abultaring it required etc. complete as directed by engineer-in charge 2 Supplying all realizats, tabour, T& P and and filling in foundation and the time with sand well watered and rammed in layers not exceeding 23 cm in depth with all lead and lift including cost, conveyance, litaring and unloading , royalties and taxes of all Cum 14415.04 42.10 342,40 materials and rost of all labour, sundries. T & P required for the work all complete in all respect as per direction of Engineer inch-auge Supplying all materials, labour, T& P and Providing & laying plain cernific rangette 1 4 8 (1 cement 4 coarse and 8 graded stone aggregate to 40 mm nominal size) in foundation and pinth including cost of her ling, lowering laying concrete, ramming, watering and 4786.20 curring the complete to required levels laid in layers not exceeding Cum 29435.13 6.15 15cm thick including cost. Conveyance, loading and unloading, royallies and taxes all materials and cost of all labours, sundnes. T & P required for the work complete including dewatering if required as epu mutuwntoroof Engineer-in-charge. 4 Supplying all materials, labour, T& P and RR stonemasonay in commut mustar of (1.6) with portland slag cement, watering and caring at multilling cost, conveyance, loading and unloading, Cum 4398.10 124246.33 28.25 royablemound taxes of all materials and cost of all baour sundries I'A I' required for the works etc complete in all respect as directed 5 Supplying all materials, labour, T& P and Providing and laying C.B. linck musimizry work in super structure throughly soked in water 27.59 4245.20 117125.07 Cum with content mortora (1:6) including necessary scaffolding, racking

out pourty curing lets complete. As per specification and direction

al llim tanning as abarea

-1	2	3	4	5	6
	Supplying all materials, labour, T& P andi. Providing, lifting hoisting laying Reinforced cement concrete of M20 grade in column footings, as per approved designs and drawings having a munimum compressive strength (in work test) 200 Kg./ Square cm in 15cm. Gubes at 28 days after mixing and tests conducted in accordance with LS, 416 using 12mm to 20 mm size black hard crusher broken granite stone ships of approved quality from approved quarry washed and cleaned (20mm size not to exceeds 25%) to be mixed in concrete mixture with ordinary protland cement (OPC) including noisting, lowering lying an doompacting concrete by susing vibrators, watering and curing for 28 days centering and shuttering and finishing the exposed surface smooth proving grooves or beads wherever necessary including cost conveyance, loading and unloading royalities and taxes of all materials and cost of all labours sunones. T & P required for the work ed complete in all respect excluding cost and conveyance of HYSD/M5 steel and binding wires, and labour charges for straightaining, cutting, bending etc of M.S. rods of for steel and				
a	Column Rase	Cum	5.67	5931.60	33632.17
Ь	Column Up to Plinth	Cum	1.86	12055.20	22422.67
C	Grade Beam	Cum	2.75	7697.80	21168.95
_	Lintel Beam	Cum	1.84	9626.30	17712.39
-	Ring Beam	Cum	5.49 0.94	12055,20 13085.80	66183.05 12300.65
	Chojja Bard Carlo	Cum	12.45	10342,50	128764.13
	Roof Slab Supplying all materials, labour, T& P and Cutting, bending binding				
L	and placing in position of reinforcement steel for RCC work	Qntl	27,12	9244.90	250698.11
8	25mm thick grading plaster with C.M. (1:4) over roof slab complete in all respect.	Cum	99.69	322.70	32169,96
9	Supplying all materials, labour, T& P and fitting and fixing of M.S. Door, M. S. grill for windows and ventilators including cost of labour,				
	a) Door	Kg	167.86	81.30	13646.69
F	b) Window.	Kg	278.53	78.80	21955.65
_	Supplying all materials, labour, T& P and Labour for Fitting fixing of	Sam	12.63	67.40	851.26
1/1	doors/windows etc complete. Supplying all materials, labour, T& P and 12mm thick cement	-			
7.7	plaster in cement mortar (1.6) over the out side wall surface including necessary scaffolding, curring, etc. completed.		107.39	155.80	16731.36
12	Supplying all materials, labour, T& P and 16mm thick cement plaster in cement mortar (1:6) over the inside wall surface urface including necessary scaffolding, curring, etc. completed.		169.82	221.40	37598:15
	Supplying all materials, labour, T& P and Fixing of Virified tiles in floors treads or steps and landing on 25mm thick bed of cement mortar 1:1 (1cement: 1sand) jointed with neat cement slury mixed with pigment o match the shades of the tiles including rubbing and polishing complete excluding cost of precast TILES	Sqm	92.78	1293.10	119973.82
	Supplying all materials, labour, T& P and Fixing Chequred tiles in floors on 25 mm thick bed of cement morter (1:1) joined with neat cement slurry mixed with pigment to match the shades of the tiles incl. rubbing and polishing complete incl. cost of tile etc all	Sqm	6.95	1070,40	7439.28
	Supplying all materials, labour, T& P and 20 mm thick cement plaster (1:4) over Stone work with cost of all materials and all	Sqm	28.49	233.50	6652.42
l I	Supplying all materials, labour, T& P and Priming 1 coat with any approved primer including cost per 1 Sqm, (Plastered surface)	Sqm	156.56	62.70	9816.31
17	Supplying all materials, labour, T& P and Weather Coat 2 coats to the inner walls & ceiling complete in all respect.		156.56	75.80	11867.25

1	2	3	4	5	6
	Supplying all materials: labour, T& P and Distempering two coat to walls with distemper of approved shade on new work to give an even shade including cost per 1 Sqm.		257_15	67.90	17460.49
19	Supplying all materials, labour, T& P and Providing two coat of enamel paint over the grill work including cost of all materials and	Sam	32.14	143.90	4624.95
				TOTAL	1146377.43
				Or Say	1146377,00

Cost of the Project

Tutal No. of Items -19 Nos

(Rupees Nine lakh nineteen thousand six hundred eighty one)only

Addl. P.D (Tech.) DRDA, Malkangiri

My Durited rate is % excess (Bolti in Injuries and words) over the amount put to tender

Note:

Signature of the Contractor

- 1 The unifractor should not write any thing excepting quoting of percentage and in any case any thing else
- Shifte will which are not applicable.
- 3 Principality quoted by the contractor shall be accurately filled in figures and words, so that there is no
- 4 If any descripancy is found in the percentage quoted in words and figures then the percentage quoted by the
- 5 Limitar rentage quoted in the tender without mentioning excess or less will be treated as excess.
- 6 Illust entractor should write percentage excess or less upto one decimal point only. If he writes the percentage www.l., or less upto two or more decimal points the first two ecimal point shall only be considered without romaduagroff



TENDER SCHEDULE

Name of the Project :- Construction ACR Building at Dhuliput PUPS GP-Dhuliput, Dist-Malkangiri

Cost of Tender Paper : Rs.4000/- 6 500 Class of Contractor D / C								
Am	nount put to Tender (Approx.): 919681.00 114637	71/×	At: Malkangiri					
Co	st of Tender Paper : Rs.4000/		Dist.: Malkangiri					
Earnest Money (Bid Security Declaration) 100 EMD			Time for completion of the work : 4 (Four) Months					
SI.	ITEM OF WORKS	QUA NTIT	UNIT	AMOUNT in Rs				
1	2	3	:4	5	6			
il I	Supplying all materials, labour T& P and Earth work in excavation of foundation trenches in ordinary soil except sheet rock and boulders (requiring blasting) including dressing and leveling the bed upto the required depth and depositing the excavated materials away form the site with all leads and lifts. T & P shoring and shuttering if required etc complete as directed by engineer- in charge:	Cum	36.20	206.80	7486.16			
	Supplying all materials, labour, T& P and and filling in foundation and ditches with sand well watered and rammed in layers not exceeding 23 cm in depth with all lead and lift including cost, conveyance, loading and unloading, royalties and taxes of all materials and cost of all labour sundries. T & P required for the work etc complete in all respect as per direction of Engineer incharge.	Gum	42.10	342.40	14415.04			
3	Supplying all materials, labour, T& P and Providing & laying plain cement concrete 1.4.8 (1 cement 4 coarse and 8 graded stone aggregate to 40 mm nominal size) in foundation and pinth including cost of hoisting, lowering laying concrete, ramming, watering and curing etc. complete to required levels taid in layers not exceeding 15cm thick including cost. Conveyance, loading and unloading, royalties and taxes all materials and cost of all labours, sundnes, T& P required for the work complete including dewatering if required as eprinstruction of Engineer-in-charge.	Cum	6.15	4786.20	29435.13			
4	commet mortar of (1.6) with portland slag cement, watering and curing etc including cost conveyance, loading and unloading royalities and taxes of all materials and cost of all lbaour sundries. T& P required for the works etc complete in all respect as directed by the Engineer un charge.	Сит	28.25	4398.10	124246.33			
5	Supplying all materials, labour, T& P and Providing and laying CB brick masonary work in super structure throughly soked in water with cement mortora (1:6) including necessary scaffolding, racking out joints, curing, etc. complete. As per specification and direction of the Engineer in charge.	Cum	27.59	4245.20	117125.07			

1	2	3	4	5	6
6	Supplying all materials, labour, T& P and Providing, lifting hoisting				
	laying Reinforced cement concrete of M20 grade in column footings		}		
	as per approved designs and drawings having a munimum	l l		1	
	compressive strength (in work test) 200 Kg / Square cm in 15cm		- 1		
	Cubes at 28 days after mixing and tests conducted in accordance		- 1		
	with I.S. 416 using 12mm to 20 mm size black hard crusher broken			J	
	granite stone ships of approved quality from approved quarry			1	
	washed and cleaned (20mm size not to exceeds 25%) to be mixed				
	in concrete mixture with ordinary protland cement (OPC) including				
	noisting lowering lying an dcompacting concrete by susing				
	vibrators, watering and curing for 28 days centering and shuttering			1	
	and finishing the exposed surface smooth proving grooves or beads			1	
	wherever necessary including cost conveyance, loading and	1			
	unloading royalities and taxes of all materials and cost of all labours				
	sunones , T & P required to rthe work ect complete in all respect			[
	excluding cost and conveyance of HYSD/MS steel and binding		.)		
	wires, and labour charges for straightaining, cutting, bending etc of M.S. rods of for steel and binding				
		_	F 07	5004.00	0.04
-	Column Base	Cum	5.67	5931 60	336
b	Column Up to Plinth	Cum	1.86	12055.20	2.22
c	Grade Beam	Cum	2.75	7697 80	211
d	Lintel Beam	Cum:	1.84	9626 30	177
f	Ring Beam	Cum	5.49		.66
g	Chajja	Cum	0.94		123
fr	Roof Slab	Cum	12.45	10342 50	128
7	Supplying all materials, labour, T& P and Cutting, bending binding and placing in position of reinforcement steel for RCC work	Qntl	27.12	9244.90	2500
8	25mm thick grading plaster with C M (1-4) over roof slab complete	Cum	99.69	322,70	32
	in all respect.		99.09	324.10	32
9	Supplying all materials, labour, T& P and fitting and fixing of M.S.				
\vdash	Door. M. S. grill for windows and ventilators including cost of labour.	12	407.00	24.00	20
_	a) Door	Kg	167.86		13
-	b) Window	Kg	278.63	78.80	21
	Supplying all materials, labour T& P and Labour for Fitting fixing of doors/windows etc complete.		12,63	67.40	
111	Supplying all materials, labour, T& P and 12mm thick cement		207 00	/FF 80	200
1	plaster in cement mortar (1.6) over the out side wall surface	Sam	107.39	155.80	16
40	including necessary scaffolding, curring, etc. completed.				
12	Supplying all materials, labour, T& P and 16mm thick cement plaster in cement mortar (1:6) over the inside wall surface urface		169.82	221.40	37
	including necessary scaffolding, curring, etc. completed.	Sym	1.09.02	221.40	.3:1.
13	Supplying all materials, labour, T& P and Fixing of Virtified tiles in	-			
1,0		l .			
	floors treads or steps and landing on 25mm thick bed of cement	l .	22.70	4666.36	292
	mortar 1-1 (1cement : 1sand) jointed with neat cement slury mixed	''	92.78	1293.10	118
1	with pigment o match the shades of the tiles including rubbing and		ĺ		
	polishing complete excluding cost of precast TILES				
14	Supplying all materials, labour, T& P and Fixing Chequred tiles in				
	floors on 25 mm thick bed of cement morter (1.1) joined with neat		6.95	1070.40	-
1	cement slurry mixed with pigment to match the shades of the tiles	, ,	0.00	1070	
	incl. rubbing and polishing complete incl. cost of tile etc all				
15	Supplying all materials, labour, T& P and 20 mm thick cement	Sqm	28.49	233 50	
	plaster (1:4) over Stone work with cost of all materials and all labour		<u> </u>	200.00	
16	Supplying all materials, labour T& P and Priming 1 coat with any	Sqm	156 56	62.70	
	approved primer including cost per 1 Sqm. (Plastered surface)		(SG)OQ	QZ,79	
17	Supplying all materials, labour, T& P and Weather Coat 2 coats to	Sqm	156.56	75.80	4
	the inner walls & ceiling complete in all respect	વાળ	155:00	7 5.00	

1	2	3	4	5	6
	Supplying all materials, latiour, T& P and Distempering two coat to walls with distemper of approved shade on new work to give an even shade including cost per 1 Sqm.		257 15	67.90	17460 49
19	Supplying all materials, labour, T& P and Providing two coat of enamel paint over the grill work including cost of all materials and	Sqm	32.14	143.90	4624.95
				TOTAL	1146377.43
				Or Say	1146377.00

Cost of the Project

5.3

7,2

(Rupees Nine lakh nineteen thousand six hundred eighty one)only

Total No. of Items -19 Nos

			ddl. P.D (Tech.) RDA, Malkangiri
	My:Quotedrrate is:	% excess	% less
	(Both in figures and words) over the a	amount put to tender	
7	7		Constant of the Contractor
	Note 5		Signature of the Contractor
)!	5 9 Note: 5 1 The contractor should not write a 5 2 Strike out which are not applicab 3 Percentage quoted by the contra 4 If any descripancy is found in the		and in any case any thing else regarding
1	 15. The percentage quoted in the ter —6 The contractor should write percentage. 	ctor shall be accurately filled in figures are percentage quoted in words and figures nder without mentioning excess or less w entage excess or less upto one decimal p	ill be treated as excess
	69 66 26		
	36		
,			
	<u>r</u> àt		
	₩ 8 ;		
	عد		
	Đ(2		



TENDER SCHEDULE

Name of the Project :- Construction ACR Building at Taberu PS GP-Jantri, Dist- Malkangiri

Cos	Cost of Tender Paper : Rs.4000/ Grad Class of Contractor D / C							
Amount put to Tender (Approx.): 919681.00				Mal	kangiri			
Cos	st of Tender Paper : Rs.4000/-)	-	Dist. :	Mal	kangiri			
Ear	nest Money : Bid Security Declaration		I	r complet : 4 (Four)	ion of the Months			
SL. NO	ITEM OF WORKS	QUA NTIT	UNIT	RATE in Rs	AMOUNT in Rs			
1	2	3	4	5	6			
1	Supplying all materials, labour, T& P and Earth work in excavation of foundation trenches in ordinary soil except sheet rock and boulders (requiring blasting) including dressing and leveling the bed upto the required depth and depositing the excavated materials away form the site with all leads and lifts. T & P shoring and shuttering if required etc. complete as directed by engineer- in charge.	Cum	36.20	206.80	7486.16			
2	Supplying all materials, labour, T& P and and filling in foundation and ditches with sand well watered and rammed in layers not exceeding 23 cm in depth with all lead and lift including cost, conveyance loading and unloading, royalties and taxes of all materials and cost of all labour, sundries. T & P required for the work etc complete in all respect as per direction of Engineer incharge.	Cum	42.10	342.40	14415.04			
	Supplying all materials, labour, T& P and Providing & laying plain cement concrete 1:4.8 (1 cement 4 coarse and 8 graded stone aggregate to 40 mm nominal size) in foundation and pinth including cost of hoisting, lowering laying concrete, ramming watering and curing etc. complete to required levels laid in layers not exceeding 15cm thick including cost. Conveyance, loading and unloading, royalties and taxes all materials and cost of all labours, sundnes, T & P required for the work complete including dewatering if required as epr instruction of Engineer in charge.	Gum	6.15	4786.20	29435,13			
4	cerniet mortar of (1.6) with portland slag cement, watering and curing etc. including cost, conveyance, loading and unloading, royalities and taxes of all materials and cost of all lbaour sundries T&P required for the works etc complete in all respect as directed	Cum	28.25	4398.10	124246.33			
5	Supplying all materials: labour, T& P and Providing and laying C.B brick masonary work in super structure throughly soked in water with cement mortora (1.6) including necessary scafflolding, racking out joints curing etc. complete As per specification and direction of	Cum	27.59	4245.20	117125 07			

1	2	3	4	5	6
6	Supplying all materials, labour, T& P andi, Providing, lifting hoisting				
	laying Reinforced cement concrete of M20 grade in column footings				
	, as per approved designs and drawings having a munimum				
	compressive strength (in work test) 200 Kg./ Square cm in 15cm.				
	Cubes at 28 days after mixing and tests conducted in accordance				
	with LS. 416 using 12mm to 20 mm size black hard crusher broken				
	granite stone ships of approved quality from approved quarry				
	washed and cleaned (20mm size not to exceeds 25%) to be mixed				
	in concrete mixture with ordinary profland cement (OPC) including				
	noisting lowering lying an dcompacting concrete by susing				
ľ	vibrators, watering and curing for 28 days centering and shuttering				
!	and finishing the exposed surface smooth proving grooves or beads				
	wherever necessary including cost conveyance, loading and	١.,			
	unloading royalities and taxes of all materials and cost of all				
	labours sunones, T & P required to rthe work ect complete in all				
	respect excluding cost and conveyance of HYSD/MS steel and				
	binding wires, and labour charges for straightaining, cutting,				
	bending etc of M S rods of for steel and binding				
a	Column Base	Cum	5.67	5931.60	33632 17
b	Column Up to Plinth	Cum	1.86		22422.67
17.1	Grade Beam	Cum	2,75		21168.95
	Lintel Beam	Cum	1.84		17712 39
-	Ring Beam	Cum	5.49	110000000000000000000000000000000000000	66183.05
-	Chajja	Cum	0.94		12300 65
	Roof Slab	Cum	12.45	10342 50	128764.13
₹	Supplying all materials, latiour, T& P and Cutting, bending binding	Qnti	27.12	9244.90	250698.11
-	and placing in position of reinforcement steel for RCC work				
0	25mm thick grading plaster with C.M. (1:4) over roof slab complete	Cum	99.69	322.70	32169.96
9	in all respect. Supplying all materials, labour, T& P and fitting and fixing of M.S.				
23	Door M. S grill for windows and ventilators including cost of labour				
	a) Door	Kg	167.86	81.30	13646.69
	b) Window	Kg	278.63		21955.65
10	Supplying all materials, labour, T& P and Labour for Fitting fixing of				
	doors/windows etc complete	Sqm	12.63	67.40	851.26
11	Supplying all materials, labour, T& P and 12mm thick cement plaster				
1	in cement mortar (1:6) over the out side wall surface including		107.39	155.80	16731.36
	necessary scaffolding, curring, etc. completed.				
12	Supplying all materials, labour, T& P and 16mm thick cement plaster				
	in cement mortar (1.6) over the inside wall surface urface including		169.82	221.40	37598.15
1	necessary scaffolding_curring, etc. completed.	recountry.	/ ====		
13	Supplying all materials, labour, T& P and Fixing of Virtified tiles in				
	floors treads or steps and landing on 25mm thick bed of cement				
	mortar 1-1 (1cement - 1sand) jointed with neat cement slury mixed		92.78	1293,10	119973.82
1	with pigment o match the shades of the tiles including rubbing and				
1	polishing complete excluding cost of precast TILES				
14	Supplying all materials, labour, T& P and Fixing Chequied tiles in				
	floors on 25 mm thick bed of cement morter (1:1) joined with neat		22.	الخد عنجت	201.22
	cement slurry mixed with pigment to match the shades of the tiles	5000	6.95	1070.40	7439.28
	incl. rubbing and polishing complete incl. cost of tile etc all			[
15	Supplying all materials, labour, T& P and 20 mm thick cement				
	plaster (1:4) over Stone work with cost of all materials and all labour	Sqm	28.49	233.50	6652.42
16	Supplying all materials, labour, T& P and Priming 1 coat with any				
, 4		Sqm	156.56	62.70	9816.31
417	approved primer including cost per 1 Sqm. (Plastered surface)				
1.7	Supplying all materials, labour, T& P and Weather Coat 2 coats to	Sqm	156.56	75.80	11867.25
	the inner walls & ceiling complete in all respect.	L			

1	2	3	4	5	6
	Supplying all materials, labour, T& P and Distempering two coat to walls with distemper of approved shade on new work to give an even shade including cost per 1 Sqm.		257.15	67.90	17460.49
19	Supplying all materials, labour, T& P and Providing two coat of enamel paint over the grill work including cost of all materials and	Sqm	32.14	143.90	4624.95
				TOTAL	1146377.43
	<u></u>			Or Say	1146377.00

Cost of the Project

Total No. of Items -19 Nos

(Rupees Nine lakh nineteen thousand sixhundred eighty one)only

Add P.D. (Feet meer, R.V.S&S-cum DRDA: Malkewarnt Director (Tech)

My Quoted rate is	% excess	% less
(Both in figures and words) over the amount put to ten	der	

Signature of the Contractor

Note:

- 1 The contractor should not write any thing excepting quoting of percentage and in any case any thing else regarding
- Strike out which are not applicable.
- 3. Percentage quoted by the contractor shall be accurately filled in figures and words, so that there is no discrepancy
- 4 If any descripancy is found in the percentage quoted in words and figures then the percentage quoted by the
- 5 The percentage guoted in the tender without mentioning excess or less will be treated as excess:
- 6 The contractor should write percentage excess or less upto one decimal point only. If he writes the percentage excess or less upto two or more decimal points the first two ecimal point shall only be considered without rounding off.



	TENDER SO						
NΑ	ME OF THE WORK :		ruction of etu PUP		Addl.C	lass Room at	
SC	HEME : SETU/2021-22 (School & Mass Education)		CLASS OF CONTRACTOR: B' & 'C'				
ΑM	OUNT PUT TO TENDER (APPROX.) :Rs.1138493/-			At: Chitra	konda	Block	
ÇÖ	ST OF TENDER PAPER ; Rs.6,000.00		_	DIST : MAL	KANG	IRI	
ΕA	RNEST MONEY 1% : Rs1138493 /-					TION OF THE	
51	The state of the s		Quantit	WORK : Rate per	6 (1	Months)	
Sur_	Items of Work	Unit	À.	Unit		Amount	
	Luth work exacavation in foundation in hard soil within initial found and lift etc. complete:	Ĉum.	42.26	206.77	Rs.	8739.00	
	Filling foundation and plinth with sand well waterd and numed em complete including all cost and conveyance	Cum.	44.00	456.90	Rs.	20106.00	
3.	Providing and laying P.C.C bed concrete (1:4:8) using 40 mm in win grade size crusher broken hard granite metal including command, compacting to proper thickness, watering curring into complete.		15.97	5208.92	Řs.	83175.00	
4	R.H.G. stone masonary in cement mortar (1:6) In Foundation and Plinth including all cost, conveyance etc. complete:	Cum.	22.07	4211.76	Rs.	92943.00	
5.	If C.C. Mi20 with 20 mm & downgrade size HGCB chips including huisting and faying, all cost conveyance, royally and rexes etc. pomplere (excluding the cost of Steel bull including the cost of centering and shuttering).						
a),	Plinth beam	Cúm.	3.22	6709.57	Rs.	21637.00	
b)	Column footing	Cum.	5.88	6333.67	Rs.	37237.00	
c)	Column	Ćum.	2.40	12454.09	Rs.	29845.00	
d)	Lintel	Cum.	1.32	7581.80	Rs.	10003.00	
c)	Beam	Ćum.	5.54	12454.09	Rs.	59014.00	
f)	Roof Slab	Cum	11-10	10739.93	Rs.	119176.00	
g)	Chajja	Cum.	0.63	10739.93	Rs.	6727.00	
6	Cutting, bending, binding and placing in position of reinforcement steel for RCC work including cost of binding wire, steel, labour, tools etc. complete.		29,50	8073.16	Rs.	238128.00	
7	Providing and laying CB brick masonary work for super structure over the beam for design thouroughly soaked in water with cement mortar 1.6 including necessary scaffolding, racking out joints, curring etc. complete as	Çum.	21 903	5320 78	Rs	116543.00	
8	Fixing tiles in floors, treads and steps on 25 mm thick bed of cement mortar 1:4 joined with neat cement slurry mixed with pigments to match the shades of the file including rubbing, polishing and cost of precast tiles etc. complete:	Sqm	107.21	1034,55	Rs	110912.00	
9	Fixing ceramic tiles in dados, skirting and riser of steps on 12mm thick cement plaster 1.3 jointed with neat cement slurry mixed with pigments to match the shade of the tiles including rubbing, polishing and cost of precast tiles.	Sqm.	9.41	1210.19	Rs.	11389 00	

17	I name painting two coats including cost of all materials.	Sgm.	21.74	143,34	Rs:	3115.00
16	I'. infing 2 coats weather seal paint over a coat of primer including cost, conveyance of all material, labour, T & P	Sqm	144.70	144.15	Rs	20858.00
5.	Distempering Two coats with approved distemper including cost of all amterial and labour etc.	Sqm_	109.33	67.86	Rs.	7419.00
14	Applying one coat of primer of approved	Sqim.	333,34	59,07	Rs	19690.00
13	Supplying fitting, fixing of M.S Grill including cost of labour, material, transportation etc.	kg	561.10	92.22	Rṣ.	51745.00
12	20 mm thick cement plaster in cement mortar (1:6) over stone masonarysurface including , surring etc. complete.	Sqm.	21.91	252.73	Rs.	5537.00
11	16 mm thick cement plaster in cement mortar (1:6) over the inside wall surface including necessary scaffolding, curring etc. complete.		142.90	236.85	Rs.	33846.00
10	12 mm thick cement plaster in cement mortar (1:6) over the outside wall surface including necessary scaffolding, curring etc. complete.		122.79	168.66	Rs.	20709.00

(Rupees Eleven Lakh Thirty Eight Thousand Four Hundred Ninty Three) only.

Tender schedule for the project:

Construction of 02 Nos Addl. Class Room at Gorasetu PUPS

under Chitrakonda Block is technically approved for Rs

1138493.00

(Rupees Eleven Lakh Thirty Eight Thousand Four Hundred Ninty Three) only.

No of corrections No of over writings No. of Interpolsation

My quoted rate is (Both in figure and words) over the above amount put to tender.

% Excess % Less

Add zilla Parisad Malkar Zilla Parishad, Malkar

The contractor should not write any thing excepting quoting of percentage and in any case any thing else regarding tender rate is mentioned, the tenderer is liable for rejection.

2 Strike out which are not applicable.

3 Percentage quoted by the contractor shall be accurately filled in figures and words, so that there is no discrepancy.

4 If any discrepancy is found in the percentage quoted in words and figures then the percentage quoted by the contractors in words shall be taken as correct.

5. The percentage quoted in the tender with out mentioning excess or less will be treated as excess.

6 The contractor should write percentage excess or less up to one decimal point only. If he writes the percentage excess or less up to two or more decimal points the first decimal point shall only be considered with out rounding off.

TENDER SO					
ME OF THE WORK:		ruction o	of 2 nos of	Addi	las Room at
HEME : SETU/2020-21 (School & Mass Education)			CLASS OF	CONTRA	CTOR : 'B' & 'C'
OUNT PUT TO TENDER (APPROX.) :Rs.1143365/-			At: Chitra	konda	Block
ST OF TENDER PAPER : Rs.6,000.00			DIST : MAI	KANG	IRI
RNEST MONEY 1%: Rs11434/-			WORK:		TION OF THE Months)
Items of Work	Unit	Quantit	Rate per Unit		Amount
Earth work exacavation in foundation in hard soil within initial lead and lift etc. complete.	cum.	35.62	206:80	Rs.	7346.00
Filling foundation and plinth with sand well waterd and rammed etc. complete including all cost and conveyance	Cum	40.51	823.60	Rs	33364.00
Providing and laying R.C.C bed concrete (1:3:6) using 40 mm					
down grade size crusher broken hard granite metal including ramming, compacting to proper thickness, watering, curring	Çum.	5.98	4841.30	Rs.	28951,00
etccomplete. CC [1.4:8] with 4cm size GBHG metal in F & P	Cum.	27.14	4453.20	Rs	120860:00
R C C M.20 with 20 mm & downgrade size MGCB chips including holating and faying, all cost, conveyance royalty and taxes etc complete (excluding the cost of Steel but including the cost of centering and shuttering).					
Plinth beam	Cum.	2.66	8072.20	Rs.	21472.00
Column footing	Cum.	5.67	6305.00	Rs.	35755.00
Column	Cum.	1.86	12429.60	Rs.	23119.00
Lintel	Cum.	1.77	10000.70	Rs.	17701.00
Beam	Cum.	5,31	12429.60	Rs.	66001.00
Roof Slab	Cum,	11.87	10716.90	Rs.	127210.00
Chajja	Cum.	0,91	13460.20	Rs.	12249.00
Cutting, bending, binding and placing in position of reinforcement steel for RCC work including cost of binding wire, steel, labour, tools etc. complete.	Qntl.	26.29	9244.90	R\$.	243048.00
2.5mm thick CC (1:2:2) for grading concrete over roof slab with 6mm CBHG chips	Sqm.	95.00	329.20	Rŝ	31274.00
Providing and laying CB brick masonary work for super structure over the beam for design thouroughly soaked in water with cement mortar 1:5 including necessary scaffolding, racking out joints; curring etc. complete as	Čum.	26.58	4355.70	Rs.	115775.00
Fixing fixing of vetrified tiles in floors, treads and steps on 25 mm thick bed of cement mortar 1:4 joined with neat cement slurry mixed with pigments to match the shades of the tile including rubbing, polishing and cost of precast tiles etc. complete.	Šqm.	88.56	1292:20	Rs.	114437.00
Fitting and fixing of cheker tiles in floor	Šgm.	6.95	1069.60	Rs.	7434.00
12 mm thick cement plaster in cement morter (1:6) over the outside wall surface including necessary scaffolding,	Sqm.	104.61	154.90	Rs_	16204.00

curring etc. complete.

				Total	Rs.	1143365,00
18	Enamel painting two coats including cost of all materials.	Šģm.	32.14	143.90	Rs.	4625.00
	Painting 2 coats weather seal paint over a coat of primer including cost, conveyance of all material, labour, T & P etc. complete.	Sqm.	152.18	75.80	Rs.	11535.00
16	Distempering Two coats with approved distemper including cost of all americal and labour etc.	Sqm.	245.19	67.90	Rs.	16716.00
15	Applying one cost of primer of approved	Sqm.	152.18	62.70	Rs.	9542.00
3)	Fitting fixing of Door and Windows	Som.	12.53	67,40	Řs.	851.00
<u>-</u>	Window	kg	278,63	78.80	Rs.	21956.00
a)	Door	kg	167.86	81.30	Rs.	13647.00
14	Supplying fitting, fixing of M.S Grill including cost of labour, material, transportation etc.					
13	20 mm thick cement plaster in cement mortar (1:6) over stone masonarysurface including a curring etc. complete.	Sgm	27.55	232:20	Rs.	6420.00
2	16 mm thick cement plaster in cement mortar (1:6) over the inside wall surface including necessary scaffolding curring etc. complete.	Sąmi	162.95	220.30	Ris	35898:00

(Rupees Eleven Lakh Fourtythree Thousand Three Hundred Sixtyfive) only.

Tender schedule for the project:

Construction of 2 nos of Addl.Clas Room at Bidarpakhna

under Chitrakonda Block is technically approved for Rs

1143365.00

(Rupees Eleven Lakh Fourtythree Thousand Three Hundred Sixtyfive) only.

No of corrections No of over writings No of Interpolsation

> Addl E O (Technical) Zilla Parisad ,Malkangiri

My quoted rate is

W Excess

(Both in figure and words) over the above amount put to tender

Note

The contractor should not write any thing excepting quoting of percentage and in any case any thing else regarding tender rate is mentioned, the tenderer is hable for rejection.

Strike out which are not applicable.

Percentage quoted by the contractor shall be accurately filled in figures and words, so that there is

4. If any discrepancy is found in the percentage quoted in words and figures then the percentage quoted by the contractors in words shall be taken as correct

5. The percentage quoted in the tender with out mentioning excess or less will be treated as excess

6. The contractor should write percentage excess or less up to one decimal point only. If he writes the percentage excess or less up to two or more decimal points the first decimal point shall only be considered. with out rounding att

	TENDER SCHEDULE							
NA	NAME OF THE WORK: Construction of 2 nos of Addi.Clas Room at Gandhiguda							
SC	HEME \$1.1107020-21 (School & Mass Education)			CLASS OF	CONTRA	ACTOR: 'B'&'C'		
AM	OUNT PHILTER HADER (APPROX.):Rs.1143365/-			At: Chitra	konda	Block		
CO	ST OF I) NIII II I APER : Rs.6,000.00			DIST : MAI	KANG	IRI.		
ĒΑ	RNEST MONEY I'M. RS13434 /-					ETION OF THE		
St.	Rems of Work	Unit	Quantit	WORK : Rate per Unit	6 (1	Months) Amount		
1	Earth were general an foundation in hard soil within initial lead and literary complete.	Cum.	35,52	206.80	Rs.	7346.00		
2	filling (anneurous and plinth with sand well waterd and tamped on a range of the luding all cost and sonveyance.	Cum.	40.51	823.60	Řs.	33364.00		
3	Providing and the proper thickness, watering, curring etc. Translation		5,98	4841.30	Rs.	28951.00		
4	CC (1.4 til with 1 = 7 3 a. 1 till 5 metal in F & P	Čum.	27.14	4453.20	Rs.	120860,00		
5	RICC Multi-mith and a stream, race size MGCB chips including holisting and taxes etc. complete much limited but including the cost of centering and shutting its cost of centering and shutting its cost.							
a)	Plinth beam	Cum.	2.66	8072.20	Rs.	21472.00		
b)	Column funting	Cum.	5.67	6306.00	Rs.	35755,00		
c)	Column	Cum.	1.86	12429.60	Rs.	23119.00		
d)	Figura	Cum	1.77	10000.70	Rs_	17701.00		
e)	Веат	Cum	5.31	12429.60	Rs.	66001.00		
f)	Roof/Stati	Cum.	11.87	10716.90	Rs.	127210,00		
g)	Сбајја	Cum.	0:91	13460.20	Rs.	12249.00		
6	Cutting farming harding and placing in position of reinforcement that the tital work including cost of familiary wine study believe familiary complete.	1	26.29	9244.90	Rs.	243048.00		
?	2.5 mm thin k in \$16.7.4 from grading concrete over roof state with matrix plants and	Sam.	95.00	329.20	Rs.	31274.00		
8	Providing upon Equipment Truck massinary work for super structure are "the Police for design thouroughly soaked in water with a manifestal Life including necessary scalleding, a charge and products, parting etc. complete as	Cum.	26.58	4355.70	Rs.	115775,00		
9	Fixing thing of similarly tiles in floors, treads and steps on Normal think had of remove mortar 1:4 joined with next remove there must with pigments to match the shades of the tile or match the shades of the tile or matched the pigments of the tile of the minutes of the state		88.56	1292.20	Rs.	114437,00		
10	Fitting and françant disckentiles in floor	Sam.	6.95	1069.60	Rs.	7434.00		
	12 minithad a count plaster in cement mortar (1:6) over the put-ado with such constituting necessary scaffolding, currengery translate	Sqm.	104 61	154.90	Bs.	16204.00		

				Total	Rs:	1143365.00
	and gift	Sam.	32.14	143.90	Rs.	4625,00
18 6	men positing two course or fulling cost of all					
1 10000	ndom rost, conveyance of official rate all, labour, T & P	Saur	ABEMO	10:00	u Žii	TT333/1/0
	"Totats weather surify and liver a coat of primer		152.18	75.80	Rŝu	11535.00
	were mucheding cost of all anaroad and labour etc.		33.44.	2.122	1,5,	apar sum messus
1	Two view with approved	Sgm.	245.19	67.90	Rs.	16716.00
15 A	Annularia žost bi bijumi mi nikimnag	\$qm	152.18	62_70	Rs_	9542.00
	յուլ ձույել of Door and Window.	Sgm.	12.63	67.40	Rs.	851.00
b) V		kg	278.63	78.80	Rs_	21956.00
a) 🗆		kg	167,86	81.30	Rs.	13647,00
	o dural transportation					
	HINT litting, fixing of M. Lall including cost of					
5	himmonarysurface including runing etc. complete	Sgm.	27,65	232.20	Rs.	6420.00
	un lluck cement plastin ar Lement mortar (1:6) over					
si	Him ourring etcr/mp.kd-	oun.	200,52	220.30	MS.	23026.00
12 1	unduck cement planter in cement mortar (1:6) и не inside wall нашей including necessary		162.95	220.30	Rs.	35898.00
12211	79.79				1	

(Rupport Eleven Lakh Fourtythree Thousand Three Hundred Sixtyfive) only.

in a minutate for the project

Construction of 2 nos of Addl. Clas Room at Gandhiguda

www.iiiiiii iiionda Black is techniii iilliy iipproved for Rs

1143365.00

Inquire Theyen Lakh Fourtylling Thousand Three Hundred Sixtyfive Jonly.

No of corrections No of over writings No of Interpolsation

Zilla Parisad Malkangiri

% Excess (Indianament and words) over the always unount put to tender

Hufu

The country for should not write may thing excepting quoting of percentage and in any case any thing else requirement made rate is mentioned. The traderer is liable for rejection.

I have a many trucked by the contractor that the accurately filled in figures and words, so that there is MG viller instrument

Il was pancy is found in the parameter quoted in words and figures then the percentage quoted by this among the in words shall be this at an correct

If the menulage quoted in the lemme with out mentioning excess or less will be treated as excess It is a manufactor should write percent are excess or less up to one decimal point only. If he writes the

promise in the ess of less up to two transper decimal points the first decimal point shall only be considered WHILE HARDING OFF



TENDER SCHEDULE Construction of 2 nos of Addl.Clas Room at ME OF THE WORK: Tontaguda HEME: SETU/2020-21 (School & Mass Education). CLASS OF CONTRACTOR: 'B' & 'C' OUNT PUT TO TENDER (APPROX.) :Rs:1143365/-At: Chitrakonda Block ST OF TENDER PAPER: Rs.6,000.00 DIST : MALKANGIRI TIME OF COMPLETION OF THE RNEST MONEY 1%: Rs11434./-WORK: 6 (Months) Quantit Rate per Unit Items of Work Amount Unit V Earth work exacavation in foundation in hard soil within initial 35.52 206.80 Cam Rs. 7346.00 lead and lift etc. complete Filling foundation and plinth with sand well waterd and Cilm 40.51 823.60 RS. 33354.00 rammed etc. complete including all cost and conveyance. Providing and laying P.C.C bed concrete (1:3:6) using 40 mm down grade size crusher broken hard granite metal including 5.98 Cum. 4841.30 Rs. 28951.00 ramming, compacting to proper thickness, watering, curring etc. complete. CC (1:4:8) with 4cm size CBHG metal in F & P Citim 27.14 4458 20 Rs. 120860/00 R.C.C. M-20 with 20 mm & downgrade, size HGCB chips including noisung and laying, all cost, conveyance, royally and taxes etc complete (excluding the cost of Steel but including the cost of centering and shuttening) Plinth beam filles. 2.66 8072.20 Rs. 21472.00 5.67 Column footing 6306.00 Rs. 35755.00 Cum. Column 1.86 Cum 12429.60 Rs. 23119.00 Lintel Cum. 1.77 10000.70 Rs. 17701.00 Beam 5.31 12429.60 66001.00 Cum. Rs. Roof Slab 11.87 10716.90 127210.00 Cum Rs.) Chajja 0.91 Cum. 13460.20 Rs. 12749.00 Sutting, bending, binding and placing in position of reinforcement steel for RCC work including cost of Onti. 25.29 9244.90 Rs. 243048.00 binding wire, steel, labour, tools etc. complete. 2.5mm thick CC (1:2:2) for grading concrete over roof Sqm. 95.00 329.20 R₹ 31274.00 slab with 6mm CBHG phips & Providing and laying CB brick mesonary work for super structure over the beam for design thouroughly soaked Curry 26.58 4355.70 Rs. 115775.00 in water with gement mortar 1:5 including necessary scaffolding, racking out joints, curring etc. complete as 9 Fixing fixing of vetrified tiles in floors, treads and steps on 25 mm thick bed of cement mortar 1:4 joined with 88.56 1292.20 114437.00 neat cement slurry mixed with pigments to match the Sam. R5: shades of the tile including rubbing, polishing and cost of precast tiles etc. complete. 10 Fitting and fixing of cheker tiles in floor 5.95 7434.00 Sam. 1069.60 Rs. 11 12 mm thick cement plaster in cement mortar (1:6) over

104.61

5qm.

the outside wall surface including necessary scaffolding,

curring etc. complete.

154.90

Rs.

16204.00

_			lI	Total	Rs.	1143365.00
	Emand proming two coats including cost of all material	Sgm,	32,14	143.90	R5.	4625.00
17	Runting I and smoother seal paint over a coat of primer imbuffigure a conveyance of all material, labour, T&P etc. primer	Sgm	152:18	75.80	R _S .	11535.00
16	Distriction in the second of all amterial and labouriets.	Sam	246.19	67.90	Rs.	15716.00
15	Appropriation and adjustment of approved	Sgrm	152.18	62.70	Rs.	9542.00
c)	Filling france of them and Windows	Sigm.	12.63	67.40	Rs.	851.00
_	Window	kg	278.63	78.80	Rs.	21956 00
	Dona	kg	167.86	81.30	Rs.	13647.00
14	Summittee Transport M.S Grill moluding cost of labour undirection etc.					
13	20 mm II = 1 = month (Nester in cement montar (116) over storm means are made including, curring etc. complete	Signi)	27.65	232.20	Rs.	6420.00
12	16 புபடிப்பட்ட நடிய plaster in cement mortar (1:6) லரை படி நடிய wall surface including necessary scallod-by பாரிர் ஸ் complete:	Sam,	162.95	220.30	Rs.	35898.00

(Rupees Eleven Lakh Fourtythree Thousand Three Hundred Sixtyfive) only.

Transfer to normalize that the project

Construction of 2 nos of Addi.Clas Room at Tontaguda

marker to be gother than I have been recally approved for Rs.

1143365.00

(Regions 1 Javan Lakh Courtythree Thousand Three Hundred Sixtyfive Conly.

No of corrections No of over writings No of Interpolsation

Zilla Parisad ,Malkangiri

% Less My gumbert izitir iii . % Excess (Both in higher man wants) over the above amount put to tender

t The முய்யுகள்ள மீண்டு மலி write any thing excepting quoting of percentage and in any case any thing else regurding மன்ன உள்ள உள்ளது. The tenderer is liable for rejection.

2. Strike out what the mobile able.
3. Percentum matter the tip mobile contractor shall be accurately filled in figures and words; so that there is no discrepine y

4. If any this remains yill learned in the percentage quoted in words and figures then the percentage quoted by the control to show the shall be taken as correct

The previously or specific in the tender with out mentioning excess or less will be treated as excess.

6. The contractor's finally write percentage excess or less up to one decimal point only. If he writes the percentage rise in less up to one decimal point only. If he writes the percentage rise in less up to two or more decimal points the first decimal point shall only be considered. with out rounding all

 $p^{\frac{1}{2}}=0$

TENDER SCHEDULE							
ΝA	ME OF THE WORK:	Construction of 2 nos of Addl.Clas Room at Gajalmamudi					
SCHEME : SETU/2020-21 (School & Mass Education)				CLASS OF CONTRACTOR : 'B' & 'C'			
ΑM	OUNT PUT TO TENDER (APPROX.) :Rs.1311664/-			At: Chitrakonda Block			
CO	ST OF TENDER PAPER : Rs.6,000.00			DIST : MALKANGIRI			
EA	RNEST MONEY 1% : Rs13117 /-			TIME OF COMPLETION OF THE			
SI.	Items of Work	Unit	Quantit	WORK: 6 (Months) Rate per Amount			
1	Earth work executation in foundation in hard soil within initial lead and littlety complete	:Cum.	37.79	206.80	Rs.	7815.00	
2	Filling foundation and plinth with said well waterd and rammed etc. complete including all cost and conveyance:	Çrim	:46:63	1074.90	Rş.	50123.00	
3	Providing and Laying P.C.C bed concrete (1:3:6) using 40 mm down grade size crusher broken hard granite metal including ramming, compacting to proper thickness, watering, curring etc. complete.	Cum.	6.54	4952.40	Rs.	32389.00	
4	CC (1:418) with 4cm Size C8HG metal in F.&.P.	.Caim.	31.13	4566.70	Rs.	142161.00	
5	R.C.C. M-2tr with 2tr man & downgrade size HGCB crips including hoisting and laying, all cost conveyance, royalty and taxes at complete (excluding the cost of Steel but including the cost of centering and shuttering)						
a)	Plinth beam	Cum.	2/98	8280.50	Rs	24676.00	
b)	Column footing	Cum.	5.67	6515.40	Rs,	36942.00	
c)	Column	-Cumi	1.86	12639.00	Rs.	23509.00	
d)	Lintel	เป็นก.	1.98	10210.10	Rs.	20216.00	
e)	Beam	Cum.	5.88	12639.00	Rs.	74317.00	
f)	Roof Slab	.Cum.	14,15	10926.30	Rs.	154716.00	
g)	Chajja	Eum:	1.00	13669.60	Ŕs.	13670.00	
6	Cutting, bending, binding and placing in position of reinforcement steel for RCC wurk including cost of binding wire, steel, fabour, fools etc. complete.	QntL	29:34	9240.50	Rs.	271116-00	
7	2.5mm thick CC (1:2:2) for grading concrete over roof slab with 6mm CBHG chips	Sqm.	113.40	335.10	Rs.	38000:00	
8	Providing and laying CB brick masonary work for super structure over the beam for design thouroughly soaked in water with rement mortar 1-6 including necessary scatfulding, racking out joints, curring etc. complete as	Cam:	30.04	4423.20	Rs.	132873.00	
9		1	101.24	1292.10	Rs.	130812.00	
	Fitting and heary of cheker tiles in floor	Sqm.	5.95	1070.60	Rs.	7441.00	
11	12 min think remains plaster in coment mortar (1:6) over the computerwall moduce including necessary scaffolding, conting the computers.	Sam.	115.01	158.50	Rs.	18229.00	

12	16 mm thick invient plaster in cement mortar (1:6) over the month wall surface including necessary scaffolding managetic complete.		185.61	224:50	Rs.	41688.00
13	20 mm the Lemment plaster in cement mortar (1:6) over stone mesonary surface including , curring etc. complete	Sgmi	30.58	237-20	Rs.	7254-00
14	Supplying fitting, fixing of M.S Grill including cost of labour including libraryportation etc.					
a)	Door	Kg	167.86	81.30	Rs.	13647.00
b)	Window	kg	278.63	78.70	Rs.	21928.00
c)	Fitting fixurum Door and Windows	Sgm	12,63	67,40	Rs.	851.00
15	Applying one, and of primer of approved	Sqm	157.94	62.70	R\$.	10530:00
16	Disternation Two coats with approved distempts in tuling cost of all amterial and labour etc.	Sgm.	285.20	67.90	Rs.	19365.00
17	Painting 2 (10.3), weather seal paint over a coat of primer including most, moveyance of all material, labour, T & P etc. complete	Sqm	167.94	75.80	Rs.	12730.00
18	Enamel populous two coats including cost of all materials	Sqr ₍ ,	32,14	143:90	Rs.	4625.00
				Total	Rs.	1311664.00
		Rs.	1311664.00			

(Rupees Thirteen Lakh Eleven Thousand Six Hundred Sixtyfour) only.

Tender schooling for the project:

Construction of 2 nos of Addl Clas Room at Gajalmamudi

under Chitrakonda. Block is technically approved for Rs.

1311664.00

(Rupees Tlurteen Lakh Eleven Thousand Six Hundred Sixtyfour) only.

No of corrections: No of over writings No of Interpolsation

Zilla Parisad ,Malkangiri

My quoted rate e-% Excess (Both in figure mid words) over the above amount put to tender.

The contraction should not write any thing excepting quoting of percentage and in any case any thing else regarding tender rate is mentioned, the tenderer is liable for rejection.

Strike out which are not applicable.
 Percentage quoted by the contractor shall be accurately filled in figures and words, so that there is:

no discrepancy 4. If any discrepancy is found in the percentage quoted in words and figures then the percentage quoted by the contractors in words shall be taken as correct.

5. The percentage quoted in the lender with out mentioning excess or less will be treated as excess. 6. The contractor should write percentage excess or less up to one decimal point only. If he writes the percentage excess or less up to two or more decimal points the first decimal point shall only be considered. with out rounding off